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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647424
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5096478607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of
the given pair.

Choose the correct alternative.

Cow:Calf ::Swan: ?
Options:
1. » Duckling

2w Caterpillar

3. % Hare

4 v Cygnet

Question Number : 1 Question Id : 5096478607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 % T AR AT o weal & dr ve faRea wew g, 3 & gl 3R ve wreg fgmm g, sl
T T A A A 3T e BT ¢ S HRT ST A W T G & = Gr o0 32 & ey & &=
gl |er Reed T

AT : TOET ;- T 7
Options:

1. & Fcdd &7 S=dT



3. % G

4. v EHAEF

Question Number : 2 Question Id : 5096478608 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given numbers on one side of : : and one number is given on another side of
: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.

26:169 ::32:7
Options:

1. = 186

7« 208

3. % 258

A % 308

Question Number : 2 Question Id : 5096478608 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

L1 % U AR & gEwHt & @9 s ARua mew g, AN % gul 3R us "o & % g, e
feT 71T Teenl # ¥ 37T TEOT WISET § SHHT 30 HEAT ¥ 9@ 399 @ Jr {r v g Fr gt F

9 81 T faeed I |

26169 ::32:7?

Options:



1. « 186

2. v 208
3. % 258
A w 308

Question Number : 3 Question Id : 5096478609 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words
and hence belongs to the same group.

Cackle : Jingle : Chirp
Options:
1. « Hen

? % Coins

3. « Hiss

4 = Sparrow

Question Number : 3 Question Id : 5096478609 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e TER Hafod weal @ U waHg fomm wmar g v arv Reedt ¥ a7 weg g4 S R A w=d &
AT g 3N 38 9N 38 FAg ¥ A9 Ud @
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Options:



Question Number : 4 Question Id : 5096478610 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given
numbers and hence belongs to the same group.

85:1583:221
Options:

1. = 269

7« 289

Question Number : 4 Question Id : 5096478610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

d I FEfd FEast 1 ve wAg foam am g1 fow v et ¥ a7 wewr I S & g st
& @A @ 3R 5@ IR 36 FEg | wad @l

85 : 153 : 221
Options:



1. =« 269

2. v 289
3 % 225
4 % 625

Question Number : 5 Question Id : 5096478611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Newton, Litre and Volt?
Options:

1. ®« Volume
7« Pascal
3. % Force

/], = Potential

Question Number : 5 Question Id : 5096478611 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fr=fef@a & ¥ 7 @ Fgea, dex 3R dee & FAWar W 82

Options:

1. = HOdA




Question Number : 6 Question Id : 5096478612 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:
1. % Clothes : Wardrobe

7 w Bees:Apiary

3 x Birds: Aviary

4. » Medicine : Hanger

Question Number : 6 Question Id : 5096478612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et F AR A3 RE aw § B & &9 S & et F §9 v At wAe wEy | 9w e g9
orgd o @ 9} ¥ TIE9T g 2

Options:

1w IS AN




3. % 9T : gafremen

A o G318 : TETAETEN

Question Number : 7 Question Id : 5096478613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Atom” is related to *Marconi” is the same way as “Television” is related to:
Options:

1. % Picture tube

2 w Faraday

3. % Receiver

4. « I L.Baird

Question Number : 7 Question Id : 5096478613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ATY], "ANEET § 3H TFR FEUT g S Teiaee e § HeEted ¢
Options:

1 i MR T



4. » T ITS

Question Number : 8 Question Id : 5096478614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One evening Mahesh was standing facing a tree. The shadow of the tree fell exactly to his left. Which direction he is
facing now?

Options:
1. = East

? % North

3. « South

A4 % West

Question Number : 8 Question Id : 5096478614 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TS TH AR, U 9T H AN HE FF T A1 95 H M1 38F A& a0 93 W A 39 g Fw fan
$r 3R FAg FF T &

Options:
1. = ©
2w 3Jeal



Question Number : 9 Question Id : 5096478615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil, Sandhya, Sani, Sanju, Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are clockwise. If Sanju sits facing South, then what will be the position of Sahil?

Options:
1. ® North - East

? % North - West

3. % South - East

4.« South - West

Question Number : 9 Question Id : 5096478615 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

aR=, Fifger, @ear, §it, 5, Wi, o3a 3R g, o= & v e e A & 9n0 3R A R
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Options:

Question Number : 10 Question Id : 5096478616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sheet of paper in fig X is folded to form a cube. Which will come opposite to face showing 5?

#
@ | s
& | %
*®
X
Options:
1. = @
2. *
3 % %
4, = #

Question Number : 10 Question Id : 5096478616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT X & Fete 1 v ofic T Aisad U O I4Ta7 3137 &1 SHA = 997 $ TW W@r &, 35 S
fTada & gem?

Options:



Question Number : 11 Question Id : 5096478617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six children A, B, C, D, E and F are standing in a line. F is to the left of A and right of B. D is between C and B. E is
standing left of C. Who is standing at the right extreme?

Options:
1. & C

Question Number : 11 Question Id : 5096478617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a9 A B, C,D,EdRFuosdRad @i FFAFaUdikBFaguaID,CRBF T &
g1 E, C &% gIT @ 8| THeH ST Hid 3T &7
Options:

1. = C



Question Number : 12 Question Id : 5096478618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Smita started from her house and walked 2 kms towards North. Then she took a right turn and covered one kilometer.
Then she took again a right turn and walked for 2 kms. In what direction is she going?

Options:
1. = North

? % East

3. % West

4. « South

Question Number : 12 Question Id : 5096478618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEAar & 39a o & Toer % R AR 98 2 kms 3ecR @ AR =6l 38F d1g 9g AW HI AR TH
kms 3T =l 3@ 3¢ B & T 731 3R 2 kms @& =l 97 5w Qar # 51 @ @2

Options:

1. = 3Jcal



4, v &

Question Number : 13 Question Id : 5096478619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L Doby is sister of John and John is brother of Shreya.
11 Shreva is daughter Jones and sister of Jani.
III.  Doby is daughter Jones and sister of Jani.

If the first two statements are true, the third statement is:

Options:

1. v Tme

? % False

3 x May be true

/. % TUncertain

Question Number : 13 Question Id : 5096478619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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3. » Tl g HHa gl

4« HARET B

Question Number : 14 Question Id : 5096478620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the sum of all the numbers in the dial of a telephone?

Options:
1. = 21

? % 30

3.v 45

L

4 = 5

Question Number : 14 Question Id : 5096478620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAFIT & IO & @AY J3 T N7 4T BT 87

Options:



3. v 45

Question Number : 15 Question Id : 5096478621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the mirror image of ?

@

Options:
L g
1 « "~
S
7« S
Y.
S
A4« S

Question Number : 15 Question Id : 5096478621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= 1 gour gfafes wig ar gem

()



Options:

()

1. =

®

S
) S

Question Number : 16 Question Id : 5096478622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are the criteria to recruit a Teacher in a college:
I.  The Applicant must be science graduate with 75% marks.
II. Have his / her age in between 25 to 32 years as on 10-05-2019.
III. Have a PG degree / 3 years diploma and must have completed B.Ed. with more than 65% marks.
TV. Have minimum 3 years’ experience in Teaching.
V.  Beready to join 2 year probation.

If a candidate satisfies all the criteria except

I. at I1T above, but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more
than 5 vears and more her/his case is to be referred to the Vice President.

ii.  AtIV above, but master degrees with minimum 60% marks, her / his is to be referred to the President.

A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data
given above, mark the answer.

Mahesh is a B.Sc. Graduate with 80% marks and has completed PG in Mathematics and B Ed with 63% marks. He
completed 28 years of age in 2017 and has 4 years” experience as a Mathematics Faculty. He is ready to join probation
period of 2 year.

Options:



1. % If case is to be referred to President.

? % If case is to be referred to Vice President.

3 % If candidate is to be selected.

4.« If candidate is not to be selected.

Question Number : 16 Question Id : 5096478622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 5096478623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are qualifications for a technical assistant post in company Alpha.

The candidate must:-
L Be an Engineering graduate with atleast 70% marks.
II. Not less than 23 years and not more than 30 years of age on 1.7.2019.
III.  Have passed the selection test with atleast 60% marks.

IV.  Willing to join immediate for training and ready to pay a deposit of Rs. 20000, to be refunded on
completion of training.

However, if a candidate fulfils the above mentioned criteria except:

i At (I) above, but he has appeared for the last semester examination and obtained an aggregate of 65% marks
in previous semester, his / her case may be referred to the V.P. of the company.

il At (II) his / her age is less than 23 years but he secured 80% marks in graduation, the case may be referred fo
the General Manager of the company.

The detail of the candidate is given as regards his / her candidature. You have to read the information provided and
decide his / her status based on the conditions given above.

Ravish is an IT engineer passed his graduation with 73% marks. He has cleared the selection test with 8020
marks.

He is ready to deposit above said amount and want to join immediately. His date of birth is 2.10.1993,

Options:
1. « If the candidate is to be selected.

? s If the candidate is not selected.

3. # Ifthe case is referred to the V. P.



4. » Ifthe case is referred to the General Manager.

Question Number : 17 Question Id : 5096478623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 5096478624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the given options would be the meaningful order of the given Words?

1) Pulp
2) Print
3) Paper

4) Purchase

5) Publish
Options:
1. ¢ 1.3.2,5.4

2 % 1,4,523

3 x 1,2,3,54

4 % 1,54,2,3

Question Number : 18 Question Id : 5096478624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T 71v Rereat # ¥ FiF @1 U 7107 2regt &1 @l FH/ gEm?

1) oFer

2) TR
3) FETA
4) Tl
5) S
Options:

1 » 13254

2_ W 1:4:5:2.'3

3 % 12,354

4 % 15423

Question Number : 19 Question Id : 5096478625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: Orissa if badly affected by Fani cyclone and life is paralyzed in the state.
Decisions:
I: As soon as possible relief material must reach the affected people.

IOI: Government should appeal to NGOs to come forward for help.
Options:
1. % OnlyIfollows

? « BothI and II follow



3 % Either I or II follow

4. = OnlyII follows

Question Number : 19 Question Id : 5096478625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 5096478626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: All employees of the office have gone on strike in protest against the privatization of women helpline.
Decisions:
I: The government should lodge FIR on all employees.

II: All the employees should be immediately terminated from job.
Options:
1. » OnlyIfollows

? % BothIand II follow

3« Neither I nor II follow

4. % OnlyIIfollows

Question Number : 20 Question Id : 5096478626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 5096478627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are in the figure?

Options:



1. = 16

2. v 19

Question Number : 21 Question Id : 5096478627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Frr & forae s 22

Options:

1. = 16
2. v 19
3. 0w 21
4 = 18

Question Number : 22 Question Id : 5096478628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five friends, A is shorter than B but taller than E, C is slightly taller than B but D is slightly shorter than B and
slightly taller than A. Who is the shortest?

Options:



Question Number : 22 Question Id : 5096478628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T H W A BE O, aT ER ST R, C, B & e o1 &, ofhT D, B & oY= orer £ 3R
A T oTET €T F| HEE Ol i 87

Options:
1. = A
2. v E
3. = C
4, = D

Question Number : 23 Question Id : 5096478629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters are given out of which the three letter clusters bear a certain common relationship. Choose the option
in which the letter clusters are differently related.

Options:
1. « DGIM



7 % EHKN

3« ADHO

4 % QTWZ

Question Number : 23 Question Id : 5096478629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TR 3R wHE T av §, e @ & W weg e & R a1 e 9fes & wefee B s
H FEY A WA qTel e FHEN F FeT I

Options:
1. % DGJIM
2 % EHKN
3. v ADHO
A % QTWZ

Question Number : 24 Question Id : 5096478630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Choose the number which
is different from others.

Options:
1. = 161

? % 207



3. % 276

A o 319

Question Number : 24 Question Id : 5096478630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR GEA & E §, e @ de et & @9 o @fRed gu e g9y §1 98 g 96 S 3w @
Ecoi

Options:
1 = 161
2w 207
3. % 276
4. v 319

Question Number : 25 Question Id : 5096478631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figures which is
different from others.

Options:

£



3.v Ez

4, = Hm

Question Number : 25 Question Id : 5096478631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W aptaar & o€ ¥, Ed @ O apladl F 4 v ARue wae wey §) 98 ale g9 S e
&= 2

Options:

L)
1.

-

Question Number : 26 Question Id : 5096478632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Venn diagram that best represents the given set of classes:

QUADRILATERALS, PARALLELOGRANMS, CONES

Options:

A
Qo

2. %

Question Number : 26 Question Id : 5096478632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT T 3 3@, RBE 710 @ & ggeag F# wEfcaw el a8

Options:

1.



3. =

Question Number : 27 Question Id : 5096478633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

CUBES, SQUARES, SPHERES
Options:



Question Number : 27 Question Id : 5096478633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT T 3 3@, e 710 o0 F gEgeag F# wEfcaw FeRe a8
TeT, g, e

Options:

2.%@@

e

Question Number : 28 Question Id : 5096478634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘A - B” means A is mother of B, *A § B*, A is sister of B, A @ B’ means A is father of B and ‘A = B’ means A is
son of B.

IfR - S=0=P, then how O is related to R?
Options:



1. » Daughter

? % Son

3. % PBrother

4« Husband

Question Number : 28 Question Id : 5096478634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEA-BFITABI AL ASBRITABHR Tga8, ‘A@ B Fr 3 A, B &1 &ar
g IR A=B # 3T A, B # IF ¢l

I R-S=0=P, a0, R ¥ &g yox geT &7

Options:
1. = &&
2 % &

Question Number : 29 Question Id : 5096478635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ram and Mohan are brothers. Shweta and Anu are sisters. Dinesh is husband of Manju and son of Manoj. Ram is son
Manoj and Anu is daughter of Dinesh. How Mohan is related to Manju?

Options:



1. % Son

? % Brother

3. % Father

4. « Brother in law

Question Number : 29 Question Id : 5096478635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AR A, ¥ § A AR I, s ) R@w, A 9 R, S A O E I, A O
g, AT 3, @y # o g1 A, 79 ¥ By ger @eitw 87

Options:

1. = @&

2.« HIF

3 x far

A o FgAs [ |er /&R

Question Number : 30 Question Id : 5096478636 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Hari travelled 17 kms to the east, he turned left and went 15 kms, he again turned left and went 17 kms. How far he is
from starting point?

Options:

1. %= 17 kms



? « 15kms

3 % 19 kms

4 = 21 kms

Question Number : 30 Question Id : 5096478636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 9& @ 3 17 kms =, $0F a1¢ 9g a1C HeT AN 15 kms =, 3§ ag O & s1¢ F§3 7141 AR 17
kms =] I I g ¥ e g7 87

Options:

1. = 17 kms
7.« 15 kms
3. % 19 kms
4 = 21 kms

Question Number : 31 Question Id : 5096478637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code PEASANT is written as 16FB19B 1420. How will be SUBJECT written in that code?
Options:

1. = 19V210F220

7 % 19V2106320



3.« 19V210F320

A, % 19V2105320

Question Number : 31 Question Id : 5096478637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fRAf¥9a FE 7 PEASANT & 16FB19B1420 @ =T g1 38 i # SUBJECT & 58 &R

or@r Sree?
Options:

1. % 19V210F220

2 % 19V2106320

3. v 19V210F320

4. = 19V2105320

Question Number : 32 Question Id : 5096478638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code PAY is written as 126. How will be BEAT written in that code?
Options:

1. = 200

7 % 140

3. ¢ 112



A = 75

Question Number : 32 Question Id : 5096478638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v TPEa F5 # PAY &7 126 for@r Sar g1 38 15 & BEAT & &g v forgr smeem?

Options:

1 = 200
2 % 140
3. v 112
4 = 75

Question Number : 33 Question Id : 5096478639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of signs, when their positions are interchanged, will correctly solve the given mathematical
equation?

12+16-22+2x5=186

Options:

1 %= +and=x
? % +and+
3 « +andx
4 % +and-

Question Number : 33 Question Id : 5096478639 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

forr & @ foow feg 3w A, 37 Tufoar e sgor = o R wrar a1fordrar wfetor @@ & &
STTET?

12+ 16-22 +2 x5 = 186

Options:
1. =+ AR x
2 % o+ 3+
3 o + 3R x
4. x + AR -

Question Number : 34 Question Id : 5096478640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out the word that cannot be formed by using the letters of the word “LIBERATIONIST™.
Options:
1. ¥+ LIBERAL

? % RELATION

3. % SERIAL

A % BITTERN

Question Number : 34 Question Id : 5096478640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oreg "LIBERATIONIST" & 3873 & IUTNET Flah oI5 e ST Jal [T =T FehaT gl

Options:




1. v LIBERAL

2 % RELATION

3. % SERIAL

4. % BITTERN

Question Number : 35 Question Id : 5096478641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some teams take parts in a cricket tournament. Each one has to play every other one. If there are 66 games played. How
many teams are there?

Options:
1. = 10

? % 1l

3. v 12

4 = 13

Question Number : 35 Question Id : 5096478641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

U fEehe TARE # EH AT o AT O g1 T # Iole 30 § UH ) Wl g 3R A A
66 3w T AT § A FoT Fheer ST 7 s o

Options:

1. = 10




Question Number : 36 Question Id : 5096478642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options:

1. # Burrow

? % Byre

Question Number : 36 Question Id : 5096478642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I g v aw § Smd @ A 5 gor wae g, sefes atur s 31 s @ g

Options:

+

1. » #ig



Question Number : 37 Question Id : 5096478643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In problem., out of four figures marked 1, 2. 3 and 4, three are similar in a certain manner. However one figure is not like
the other three. Choose the figure which is different from the rest.

Answer Fig.

* - » "
* (‘_i%) =+ ¥
* e * x( ¥y

1 2 3 -
Options:

1. =

—_

I

2.

3. % 3

4 = 4

Question Number : 37 Question Id : 5096478643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H, 1, 2, 3 3R 4 3T a1 BET # ¥ 99 O R 9AF 21 g U R, 3 89 & g
7 ¥ 97 B g S 9w @ B B

3ea 3

S | F | &2 |
* i * | »Xx
1 2 3 -4

Options:



2. v 2
3 o= 3
4. = 4

Question Number : 38 Question Id : 5096478644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

15 A7, 20.25.32.7
Options:
1. = 40

? % 41
3.v 43

4 = 45

Question Number : 38 Question Id : 5096478644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ e g9 S g@er # geF RBeg (?) & w5 yiavwig sEm

15; 17, 20, 25, 32,7

Options:



2w 41
3. v 43
4 = 45

Question Number : 39 Question Id : 5096478645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

45,20, 55,:25,65,7
Options:
1.+ 30

Question Number : 39 Question Id : 5096478645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ faweT g9 S g@er & goF RBeg (?) 1 w5 giawig sEm

45, 20, 55, 25, 65,7

Options:



2 =% 35
3. % 75
4 = 85

Question Number : 40 Question Id : 5096478646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

3,0;2%,60,7
Options:
1. = 120

7 % 163

3. % 180

A o 183

Question Number : 40 Question Id : 5096478646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e g9 S g@er # geF RBeg (?) # w5 giawig sEm
3; 8 21..60; 2

Options:



1. = 120

2« 163
3 % 180
4. v 183

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Awarenessi

3
509647134
0

0
No
No
0
20
No
Yes
0

0

General Awarenessi

Section Id : 509647294

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 509647426

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 5096478647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term ‘Anaphylaxis’ refers to?

Options:

1. v Severe allergic reaction

2. » Sudden fall in pH of soil

3. » Sudden change in air composition
4. = Sudden fall in atmospheric pressure

Question Number : 41 Question Id : 5096478647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TATThelaad oreg faFad H & T gefda +ear &7

Options:

1. v 30T varsit giaferar
» HaT & pH H 37T BRmEe

o

2.
3. = BT =l T{HAT H 3Teleh Tdclol
4.

[ —

% d|-§.|jd-ism“|-z.| gdlg H 3=k [@PRIae

Question Number : 42 Question Id : 5096478648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is not a type of drought?

Options:

1. = Agricultural drought
2. v Atmospheric drought
3. » Meteorological drought
4. = Hydrological drought

Question Number : 42 Question Id : 5096478648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fAFAT=T # & Fid T GE FT T THR ol 57

Options:

1. = FN g@




2. v AYAST Fq@
3. = AIGA gadT g@r

4. % STl gz

Question Number : 43 Question Id : 5096478649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TPU is an acronym for an artificial polymer whose properties
are between rubbers and plastics. The full form of TPU is?

Options:

1. = Tetrapthalate Polyurethane

2. = Thermoplastic Phosphourethane
3. » Thermoplastic Polyethane

4. v Thermoplastic Polyurethane

Question Number : 43 Question Id : 5096478649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TPU W $T3HA SEh HT FALAH %ﬁﬂﬂ:gmmsﬂt
TATECs & S o gl &1 TPU T 90 &7 3T &7

Options:

1. = 2gTaerele dlorgyee
2. = YHATATECH BIERIN A
3. = YAfTaTEes Tiferdal
4. v AT diedsl

Question Number : 44 Question Id : 5096478650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The natural source of Fluorides in the atmosphere 1s?

Options:

1. = Plant decay

2. = Animal decay



3. v Volcanic eruptions
4. = Forest fires

Question Number : 44 Question Id : 5096478650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JIASE H FelI35H T UIhideh H hiel AT BT &7

Options:

1. = 9IGUl T &

2. » S &

3. v sarengdr faeme
4. = STl shT 37T

Question Number : 45 Question Id : 5096478651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has won the best production design award at the 91st
academy (Oscar) awards ceremony?

Options:

1. v Hannah Beachler
2. » Nina Hartstone
3. = Mahershala Ali
4. = John Ottman

Question Number : 45 Question Id : 5096478651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

91T HFTEAT (ITH) WERR TARNE H TIASS sl
TSotrsel TR fohdral STTaT?

Options:

1. v ol Sheld

2. % ATl BREEl
3. = FELLTT 3oll




4. = Sl McHe

Question Number : 46 Question Id : 5096478652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which country has started BeiDou Navigation Satellite System
(BDS), which has started its global services in December 2018?

Options:

1. = Japan
2. » United States of America
3. v China
4. = Russia

Question Number : 46 Question Id : 5096478652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fedsT 2018 & 37vel dfRaeh AU A& Hel arel BeiDou
aAfdarers deemge BecH (BDS) T &3 fohe 2or o &7 g7

Options:

1. = SIT9Tel
2. » TIFA T AR
3. v e
4. = &

Question Number : 47 Question Id : 5096478653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following was conferred with Mohammad
Rafi life time achievement award by the NGO Spandan arts
for the year 20187

Options:

1. = Sonu Nigam
2. » Asha Bhosle
3. = Kumar Sanu



4, v Laxmikant Shantaram Kudalkar

Question Number : 47 Question Id : 5096478653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafa@a # @ 8 T Taailall g shell gaRT ay¥ 2018
& ToIlT AgFAS THT o8% CIBH FAadc a8 d§ TEATd
foraT aram?

Options:

1. = @l foarA
2. = 372 Hige

3. % hHAL Tld
s | 2%

4. v AEHIRTT ATdRTH GERER

Question Number : 48 Question Id : 5096478654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which day is celebrated as the International Dance Day every
year?

Options:

1. v 29th April

2. = 29th May

3. » 29th March

4, = 29th February

Question Number : 48 Question Id : 5096478654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“HRTSeT e faga” T arel Torg ot AT ST 87

Options:

1. v 29 378l

2. % 29 FE
3. % 29 AT




4. % 29 THIET

Question Number : 49 Question Id : 5096478655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which dynasty among the following immediately preceded
the Maurya dynasty?

Options:

1. = Sunga dynasty

2. » Haryanka dynasty
3. v Nanda dynasty

4, = Sisunga dynasty

Question Number : 49 Question Id : 5096478655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIE g1 & ed Uge farafeli@d & @ fore ger 1 emder ar?

Options:
1. = I aer
2. « @1 Tem
3. v &g T
4. = TG FA

Question Number : 50 Question Id : 5096478656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following dynasties of India was founded by
Vijayalaya?
Options:

1. = Pala dynasty

2. v Chola dynasty
3. * Tomara dynasty
4. = Solanki dynasty

Question Number : 50 Question Id : 5096478656 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

T & [aeeTeliEa Toaet & O rahr Tamver s
SERT T 95 2A1?

Options:

1. = Orel el
2. v drel ger
3. = AT T
4. = HYeTehl Tl

Question Number : 51 Question Id : 5096478657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was Vikrama Era began?

Options:

1.~ 57 BC
2. % 55 BC
3. = 50 BC
4. = 47 BC

Question Number : 51 Question Id : 5096478657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 9T T oF BT AT?
0 ) )

Options:

1. v 57 é“{[\
2. = 55 éﬁr\
3. = 50 é‘i{\
4. = 47 é“{

Question Number : 52 Question Id : 5096478658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



During the term of which viceroy, the Indian councils act was
passed in the year 18927

Options:

1. » Lord Chelmsford
2. = Lord Canning

3. = Lord Minto

4. v Lord Lansdowne

Question Number : 52 Question Id : 5096478658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1892 &, Torg TTIEIT F FIAFRTel & T, RO F3Tadl
AR g Rar =T ar?

Options:

1. = ol JFAHIS
2. % oIS Shieldl
3. = ois THar

4. v oe G334

Question Number : 53 Question Id : 5096478659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is not a directive principle?

Options:

1. v Separation of executive from legislature

2. = Uniform civil code

3. = Promotion of International peace and security

4. = Participation of workers in management of industries

Question Number : 53 Question Id : 5096478659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFatfelET # & shla @1 Teh Toicersh A& a8l 87

Options:



v Ut @ g FRRTR

x THT AT Figdr
ITSER ermf 31 GL&TT Y Serar e
x 3NN oh Y H ATHRT hr HEERT

Question Number : 54 Question Id : 5096478660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The tenure of the estimates committee of L.oksabha is:

Options:

1. = 3 years

ol
#®

2. % 2 years
3.v1year
4. = 4 years

Question Number : 54 Question Id : 5096478660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SR THT =hl 3Tehelal ATHTT T ShIehlel BT &

Options:

1. = 3 a¥
2. = 2 dy
3. v 1 ay
4. = 4 ¥

Question Number : 55 Question Id : 5096478661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Swaran Singh Committee recommended:

Options:

1. v Inclusion of Fundamental Duties in the Indian
Constitution.

2. = Interlinking of Himalayan and peninsular rivers.



3. » The Constitution of State-Level Election Commissions.
4. = Panchayati - Raj reforms.

Question Number : 55 Question Id : 5096478661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl fag ATATT o TolasT shr TAwTier &

Options:
1. v RO Gidura # #Fifess wdsar 1 gAdeT

« TEATRT 3R grredd Afgal :f WEW S5l
3. * U THIF IATd GG FT TS

* TRTIATITST FUR

Question Number : 56 Question Id : 5096478662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution says, "It shall be duty
of Prime Minister to communicate to the president all
decision of Council of Ministers relating to the administration
of the affairs of the union and proposals for legislation”?

Options:

1. = Article 68
2. v Article 78
3. = Article 58
4. » Article 88

Question Number : 56 Question Id : 5096478662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AiaeTel & ford fefede A Fgr a7 & T "Tererssy #1
Ig haied glam Tk ag 99 o AT o T2l 8 Faidd
AURNG & AT 0T 3 el & wedm@l & folv Iegaia &
garg w17

Options:




% 37l 68
v e 78
% 3efeode 58
* 3efeode, 88

Question Number : 57 Question Id : 5096478663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under which article of the Indian constitution, the council of
ministers of a State will aid and advice the Governor?

Options:

1. v Article 163
2. » Article 263
3. = Article 363
4. = Article 463

ol

Question Number : 57 Question Id : 5096478663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARAT TGl & [T eese F d8d, ARURYE TF TTaR
BT 3T TsIUTel hT ATgsh &7

Options:

1. v 3fe[ese 163
2. = HeTdE 263
3. » 3elcoT 363
4. = 37eTToT 463

Question Number : 58 Question Id : 5096478664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution is about the
administrative tribunals?

Options:




1. = 423
2. % 123
3.% 223
4, v 323A

Question Number : 58 Question Id : 5096478664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TTaYTeT RT hiel HI aagnéﬁq TeMH{eeh TSRO & SR
H Fdrar g7

Options:

1. = 423
2. = 123
3. % 223
4. v 323A

Question Number : 59 Question Id : 5096478665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term ‘Over-Trick’ is associated with which one of the
following sports?

Options:

1. = Rugby
2. v Bridge
3. » Hockey
4. = Polo

Question Number : 59 Question Id : 5096478665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘M-It g e & @ v T & gEradT g7

Options:

1. = &0




2. v o=t
3. = Blehl
4. = qrelr

Question Number : 60 Question Id : 5096478666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which game the Scindia Gold Cup is associated in India?

Options:

1. v Hockey

2. = Football

3. = Table Tennis
4. » Badminton

Question Number : 60 Question Id : 5096478666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T # & Mes &9 7 @ O gafaa §7?

Options:

1. v BRI

2.&@?
3. = ool o
4. » SSTRCA

General Awareness2

Group Number : 4

Group Id : 509647135
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

General Awareness?

Section Id : 509647295

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647427
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5096478667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By what margin India won its first ever world cup cricket
championship final in the year 1983 against West indies?

Options:

1. = 23 runs
2. * 33 runs
3. »v43 runs
4, %= 53 runs

Question Number : 61 Question Id : 5096478667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIT o 39T Ugell 92T T Tohohe ATETIATRIT FHIeadal 1983
H d€c 3191 & Wl fohde T & / v 3T & SAar?
Options:

1. » 23 Tl
2. % 33 T
3. v 43 I
4. » 53 Lo




Question Number : 62 Question Id : 5096478668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which Indian state, the Modhera Dance festival is
celebrated?

Options:

1. = Manipur

2. » Maharashtra
3. v Gujarat

4. = Uttarakhand

Question Number : 62 Question Id : 5096478668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR T 344, 6T IRA™T T H AART ST 87

Options:

1.&34@3‘{

2. » AERISC
3.«?3_1311?[

4. = 3cadTEE

Question Number : 63 Question Id : 5096478669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘Dhumal’ dance is famous in which state of India?

Options:

1. = Rajasthan

2. » Assam

3. v Jammu & Kashmir
4. = Odisha

Question Number : 63 Question Id : 5096478669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT [T AT & e ToT H Ii8g &7

Options:




* JToT T

*» JHHA

v EIFcFL}ﬁT FeA
x 3fSer

ol

Question Number : 64 Question Id : 5096478670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The epic painting ‘Shakuntala’ is the work of which famous
painter of India?

Options:

1. = Abanindranath Tagore
2. v Raja Ravi Varma

3. = Amrita Sher Gill

4. = Tyeb Mehta

Question Number : 64 Question Id : 5096478670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HETehTeT frashall 'ershcell TR & fohd 9fie R &1 $ia
&7

Options:

1. » Sfeigery &MY
2. v T Ua AT
3. = 3HAT AW T
4. % IS AEAT

Question Number : 65 Question Id : 5096478671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country’s capital is Tallinn?

Options:

1. = Cyprus




2. v Estonia
3. = Samoa
4. = Finland

Question Number : 65 Question Id : 5096478671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afereT forg o1 T TaTUTaT 87

Options:

1. = gBvd
2. v TElfe=m
3. = HAW
4, = TheTols

Question Number : 66 Question Id : 5096478672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Baspa Hydroelectric project is located in which state of
India?

Options:

1. = Jharkhand
2. v Himachal Pradesh
3. » Telangana
4. = Rajasthan

Question Number : 66 Question Id : 5096478672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST STelfded IRASTT AR & fhd Tod # [Fud &2

Options:

1. *» SIRES

2. v TEHATISr uder
3. % JolalTaT




4. = TToTEUTA

Question Number : 67 Question Id : 5096478673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The river Krishna originates from which state of India?

Options:

1. » Karnataka

2. » Andhra Pradesh
3. v Maharashtra

4. = Telangana

Question Number : 67 Question Id : 5096478673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEOM T AR & g T & foeherdr §7

Options:

1. % Shallceh
2. % 3T uder

3. v HBNISE
4, = JolaMar

Question Number : 68 Question Id : 5096478674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year, the Mahila Samriddi Yojana was launched by
Government of India?

Options:

1. = 1996
2. v 1993
3. = 1999
4. = 2001

Question Number : 68 Question Id : 5096478674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AfgeT TATE IIeTal, AR THRR SarT oFT a¥ & & 6T 915
ofT?

Options:

1. = 1996
2. v 1993
3. = 1999
4. = 2001

Question Number : 69 Question Id : 5096478675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The concept of Navaratna’s was introduced by government of
India in the year:

Options:

1.~ 1997
2. % 1991
3. = 1999
4. = 2002

Question Number : 69 Question Id : 5096478675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TFR ZaRT Fdlcal 1 AHTYROT {5y a9 7 Ueqd Fr a5
ofT:

Options:

1. v 1997
2. % 1997
3. = 1999
4. = 2002

Question Number : 70 Question Id : 5096478676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Foreign investments promotion board (FIBP) works
under ministry of?

Options:

1. = Industries and Commerce
2. v Finance

3. = Consumer affairs

4. = External affairs

Question Number : 70 Question Id : 5096478676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeer fder gader MT (FIBP) v AT & d8d FTH Hldl
&7

Options:

1. % 3T 3K arfored

2. v Bca

3. % 3UMIFAT HATHAAT ST HATe
4. = Tacer #ATeT

Question Number : 71 Question Id : 5096478677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The antibiotic ‘mitomycin’ is used to treat?

Options:

1. = Swine Flu
2. v Cancer

3. = AIDS

4. = Polio

Question Number : 71 Question Id : 5096478677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaIETaI e "ABCIHATS AT &7 39IET hT 9T & 3UgR & fow
T Srar &7



Options:

1. % ¥ATgel Fel
2. v HET

3. = UsH

4. = fer

Question Number : 72 Question Id : 5096478678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The instrument used for measuring the growth of plants is
called?

Options:

1. v Auxanometer
2. » Bolometer
3. = Celiometer
4. = Ceranograph

Question Number : 72 Question Id : 5096478678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el & AR Y AT & ToIv T IURIOT T hal SIar &7

Options:

1. v 3iogeaaeT
2. = SellART
3. = AferardreT
4, = FUAETH

Question Number : 73 Question Id : 5096478679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The percentage weight of copper in 22 carat gold is?

Options:

1. = 0.1
2. v 0.02




3.#0.15
4. % 0.18

Question Number : 73 Question Id : 5096478679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

22 I Gt A ars T uiaerd goie &laTr &7

Options:

1. = 0.1

2. v 0.02
3. = 0.15
4. = 0.18

Question Number : 74 Question Id : 5096478680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The other name of the explosive RDX is?

Options:

1. = Cyanohydrin
2. * Dextran

3. v Cyclonite

4. = Furan

Question Number : 74 Question Id : 5096478680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faEwicsh RDX T S8 olTH &7

Options:

1. = OIAABSSd

2. % SFEqiel

3. v TEFallelac

4., = el
2

Question Number : 75 Question Id : 5096478681 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

What is the acronym for the world’s largest ground-based
telescope inaugurated in the year 2013 in Chile?

Options:

1. = CDAC
2. v ALMA
3. = CLAN
4. » TOSS

Question Number : 75 Question Id : 5096478681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fRrell & a9 2013 A TN gl & ToH o3 A35-CelThiT
T GT&ed ITH 4T §7

Options:

1. = drsrodr

2. v QUTHU

3. = HIUeIUTA
4. = ar3fogeyg

Question Number : 76 Question Id : 5096478682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which mission Indian-born American astronaut Kalpana
Chawla was lost aboard?

Options:
1. = STS - 100
2. % STS - 103
3. v §TS - 107
4. % STS - 102

Question Number : 76 Question Id : 5096478682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT el FT FARRT ARET I FeqslT agel I JoI
forer siaRer affaTa & e g5 o7

Options:
1. = STS - 100
2. = STS - 103
3. v STS - 107
4. = STS - 102

Question Number : 77 Question Id : 5096478683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Hubble Space Telescope (HST) was carried into orbit by
space shuttle in the year of?

Options:

1. = 1993
2. v 1990
3. % 1996
4. = 1988

Question Number : 77 Question Id : 5096478683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g6l T4 TollEehT (HST) o fora a¥ 3raflyer Imer g@rT SaehT
F&T A TATOT TohaT 1T 2a1?

Options:

1. = 1993
2. v 1990
3. = 1996
4. = 1988

Question Number : 78 Question Id : 5096478684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The headquarters of Food and Agricultural Organization
(FAO) of UNO is located in?

Options:

1. = Paris, France

2. = Geneva, Switzerland
3. v Rome, Italy

4. = Dublin, Ireland

Question Number : 78 Question Id : 5096478684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UNO & Zmeg 3 ¥ Hartael (FAQ) T HEATer el [eurd &7

Options:

1. = 9@, Wi
2. = Tolaar, Eacetels

3. v UH, 5ol
4. » ZFTolel, LIS

Question Number : 79 Question Id : 5096478685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Institute of Nano Science and Technology (INST) is located in?

Options:

1. = Delhi
2. v Punjab

3. » Rajasthan
4. = Karnataka

Question Number : 79 Question Id : 5096478685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At faarer 3T wigfEehr geare (INST) gl Fud g7

Options:

1. = Tgeoll



2. v UIE

3. ® [T

4. % TFhellceh

Question Number : 80 Question Id : 5096478686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the Central Silk Board located in India?

Options:

1. = Jaipur

2. » Hyderabad
3. = Pune

4. v Bengaluru

Question Number : 80 Question Id : 5096478686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

aTRT F FET YT §1F FaEr BT &7

1.« S
2. % geIIETg
3. = ot
4.&3?@3

Arithmetic Abilityl
Group Number : 5
Group Id : 509647136
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

Arithmetic Ability1
Section Id : 509647296
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647428
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5096478687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given (3% — 37) (3% — 3°) = x.What is the value of *x’?
Options:

1. = 4.3°

7 % 6438

3. v 2916.3°

/. % 256.3%

Question Number : 81 Question Id : 5096478687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE (32 —37)(3°—3%) =x §, a A’ o AT Iar H1?

Options:

1. = 4.3%



2 % 64.3°
3. v 2916.3°

A % 2563°

Question Number : 82 Question Id : 5096478688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (xz + iz) = ? , then what is the value of (x3 — i)‘?
X

Options:
125
1. = 8
185
2.v 8
155
3. % 8
140
4 = 8

Question Number : 82 Question Id : 5096478688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o () -2 & A

Options:

)ar:m?rqr-nﬁ‘?

1
52



=
L4}
m

Question Number : 83 Question Id : 5096478689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.64)* x (0512)* = (0.4096)* = (80+ 100)"*3

What should come in the place of *?" for the above equation to be correct?
Options:

1.v 1

4 = 4

Question Number : 83 Question Id : 5096478689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.64)* x (0.512)* = (0.4096)* = (80 = 100)*3
IRIFT THIUT H TET 31 & T 2 & TUH W F7 H{=T Afge?

Options:

1. v 1



Question Number : 84 Question Id : 5096478690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

V0.0001% 3/1000000
3/0.001331%3/0.729

Options:
1. % 100.101

7 % 100.101

3.« 10.101

4. « 10.10

Question Number : 84 Question Id : 5096478690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FL:

J0.0001% 31000000
3/0.001331%3/0.729

Options:
1. = 100.101



Question Number : 85 Question Id : 5096478691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

31.752 — (4.98+ 8.0112) +i

Options:
1. = —28.5042

7.« —20.2128
3 % 28.5042

A, % 20.2128

Question Number : 85 Question Id : 5096478691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g Y
31.752 — (4.98+ 8.0112) +i

Options:

1. % =-285042



2 o -20.2128

3. 285042

4. % 202128

Question Number : 86 Question Id : 5096478692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2424 B.06xx . .
= . What is the value of 4/x ?
0.5 0.005

Given

Options:

1. % 1
2. = V27
3. v V32

4, = V64

Question Number : 86 Question Id : 5096478692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1'4'1%( 2424 _ 6.06xx %.! Fﬂ' ﬁ el AT 9T ci—::i?
0.5 0.005

Options:



Question Number : 87 Question Id : 5096478693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of J 0.4 x [M]
0.24%0.18x1.5

(consider v/5 = 2.236 V2 = 1.414)°

Options:
1. = 16.888

7.« 17.888
3 x 18.888

A % 15.888

Question Number : 87 Question Id : 5096478693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JG4 % [T.EXD.Q&X?.ED] T ;“H.ql__“.a’_i_

0.24x0.18x1.5

(afe V5 = 22362 = 1.414) &7

Options:

1. = 16.888

2.« 17.888



3. % 18.888

4. » 15.888

Question Number : 88 Question Id : 5096478694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

Options:
1. «+ 81

Question Number : 88 Question Id : 5096478694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl FL

(c- 04 {3§—2)+§0f 1&)2 -
0.03 ~+2of:

Options:

1. v 81



Question Number : 89 Question Id : 5096478695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i g A S ma ; ; B i
The sum of three fractions is 45 . If the greatest fraction is divided by the smallest fraction, the result is 7 which is

; i 1 ; .
greater than the middle fraction by = The three fractions, respectively, are:

Options:

1. % 5730
? % 3'%'4
3.v 3%2
4 = 3%0

Question Number : 89 Question Id : 5096478695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

?ﬁ?rsﬁﬁa:rimmﬁa‘luﬁmﬁmrﬁmﬁ?mrﬁmmm%,#qﬁmi

24
ger &, S T Few T 3y ¥ ¢ 997 81 FEw S 3 949 %
Options:
9 7
1. % Twic



9 7
=il
2 % s'io’
9 7
el
3 ¢ 5’10
9 7
= e
4. % s'10’

Question Number : 90 Question Id : 5096478696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin read 1/8™ of a book on a day and 3/7 of the remainder on the second day. If the number of pages still unread
were 320, then how many pages did the book contain?

Options:
1. v 640

3. % 160

4 = 80

Question Number : 90 Question Id : 5096478696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wfee & v foa # ver qraw # 1/8a7 fFwwr ger R qEy few 9w 3/7ar fgwwr wen af swh o 320
TB T¢ S A &, & 97w F TFE 7 e g 97

Options:

1. v 640

2 % 320



Question Number : 91 Question Id : 5096478697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the sum of the digits of the least number that leaves remainder 15 each time it is divided by 60, 80 and 90?
Options:
1. = 10

? % 12

3.v 15

4 = 18

Question Number : 91 Question Id : 5096478697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF T T TEN 5 60, 80 3T 90 ¥ X X Bwfea == 9¥ 15 9Y ¥=4T §, 39 AT F T
T T 94T F17?

Options:
1. = 10
2 % 12

3 ¢ 15



Question Number : 92 Question Id : 5096478698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF and LCM of two numbers are 42 and 9282 respectively. If one of the numbers lies between 500 and 600, then
what is the product of the digits of the other number?

Options:
1. « 28

7 % 120

3. % 12

4 = 10

Question Number : 92 Question Id : 5096478698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HET3T F Agead FANE iR YA BAMEC wA 42 AR 9282 §| IfE 39H ® S F&
500 3 600 & &= el &, & q@Y HET F 3R HF IO T F?

Options:

1. v 28
2 % 120
3w 12



Question Number : 93 Question Id : 5096478699 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What is the side of the largest possible square slab that can be paved on the floor of a room. whose measurements are
15 m * 50 cm long and 8 m * 50 cm broad? Also find the number of such slabs to pave the floor.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 627
e
|

Question Number : 93 Question Id : 5096478699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 WER T3 HHT TER Foid H ST IAT H, FN TH FAL F B W HOS A FHAT g AR T
AT T IgERX 15 m = 50 cm 3R =S F HFAR 8 m « 50 cm Bl $HF oA B A o= &
o i & FEar S A =

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1. 627
2. 327
3. 527

4. 427



Question Number : 94 Question Id : 5096478700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Two sisters Swapna and Sadhana had some savings in the ratio 6 : 7. They decided to buy a gift for their brother Raja,

sharing the cost in the ratio 5 : 6. After they bought the gift, Swapna was left with 2/3™ of her amount, whereas Sadhana
was left with Rs. 161. Then the value of the gift (in rupees) is:

Options:
1. = 150

? % 175

3 % 164

A v 154

Question Number : 94 Question Id : 5096478700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar Sga Tave A WA T §99 6:7 F IS H ¢l Sewia A #5 TN & AT wF 3R Tl
#1 Swen frar, TS Ed 5:6 F agaa # @A R 3R wlea & g, T & 9E A9 qhRr v
2/3 fEFar &=, FETF WA & T T 1611 3R F H5T (T H) T4 Hi:

Options:

1 = 150
2 %« 175
3. % 164
4. « 154

Question Number : 95 Question Id : 5096478701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rs. 1880 is divided among Ram, Robert and Rahim such that Rs. 80 more than 1/5™ of Ram’s share, Rs. 40 more than
1/7® of Robert’s share and Rs. 20 more than 1/17t

share?

of Rahim’s share all point to the same number. What is Rahim’s

Options:
1. % Rs. 100

7« Rs. 1360

3. % Rs.420

A. % Rs. 1000

Question Number : 95 Question Id : 5096478701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 1880 = TH, T 3N WH & §9 57 g Renfog S mar & & o7 & 1/59 f=g & 393 80
e, IO F 1/79 TS T 397 40 370 3 BF & 1179 50 ¥ 397 20 3% = & g
g+t 81 WF F1 Trar 9ar F:1?

Options:
1. = T 100
2. v T 1360
3. % T 420
4. % T 1000

Question Number : 96 Question Id : 5096478702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Evaluate:

24 of 52% of — of 78% of — of 100000 =?
156 312

Options:

1. = 70

% % 100
3.« 700

A, % 1000

Question Number : 96 Question Id : 5096478702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬂﬁ:

100000 FT i FT78% =

5

&I 52% =T 24 =2

-

Options:

1. = 70
2 % 100
3.« 700
A = 1000

Question Number : 97 Question Id : 5096478703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The population of a town is 1161600. If it has been increasing at the rate of 10% per annum, then what was the
population of the town 2 years ago?



Options:
1. v 960000

7 % 106000

3. % 860000

A % 100000

Question Number : 97 Question Id : 5096478703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FE58 FT AAGE 1161600 g1 T @ 10% S I X T e W e, ST 9ar =1 & 2 I g
FES P FATTETT Shaer of?

Options:

1. « 960000

2 % 106000
3. % 860000
4. = 100000

Question Number : 98 Question Id : 5096478704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From 2014 to 20135, the sale of a mobile phone decreased by 60%. If the sale in 2016 was the same as that in 2014, by
what percent did it increase from 2015 to 20167

Options:
1. = 100%



7« 150%

3 % 120%

A % 200%

Question Number : 98 Question Id : 5096478704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2014 & 2015 &, HAEST B T 97 # 60% Fr Frrae 32 afe 2016 &r T 2014 Fr f6hr &
e & o, a7 2015 ¥ 2016 T & o gfoera 56

Options:

1. = 100%

2. ¢ 150%

3. % 120%

4. % 200%

Question Number : 99 Question Id : 5096478705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A batsman had a certain average for 15 innings. In the sixteenth inning, he scored 156 runs, thereby increasing his
average by 8 runs. What is his new average?

Options:
1. = 28

? % 38



Question Number : 99 Question Id : 5096478705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Soodlal 7 15 9iiy@r &1 v @AfPaa sleg o ofea 3us et 9 # 156 = 4T, e
3OH HOa 8 @ 9¢ TS| IWH A% AT Tar FI?

Options:

1. = 28
2 = 38
3 = 20
4. v 36

Question Number : 100 Question 1d : 5096478706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a college. there are 600 students and their average marks are 45. If the average marks of passed students were 50 and
of failed students were 30, then what is the number of students who have passed?

Options:
1. v 450



A % 325

Question Number : 100 Question Id : 5096478706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Felst H, 600 7T ¢ 3R 37 rua 3w 45 1 I e o F swa e 50 AR et ot
& 3Eg 3% 30 o, G 3T orEr Fr §EAr 94 F17

Options:
1. v 450
2 % 150
3« 350
4. = 325
Arithmetic Ability2
Group Number : 6
Group Id: 509647137
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 509647297
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section |d: 509647429
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5096478707 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Ravi sold two laptops for Rs. 18000 each. On one he gained 25% and on the other he lost 25%. What is his gain or loss
percent on the whole transaction?

Options:
1. % 6.25% profit

2 % 5% profit

3 % 5%loss

4.« 6.25% loss

Question Number : 101 Question Id : 5096478707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

W & gfer dwei T 18000 & @ ¥ &Y A9 3| 3 T AT W 25% e g3 HRK W
ATerT 9 25% g gF1 38 W AT-8F T Y WY A7 gfer I i gar w2

Options:

1. = 6.25% &H

7w b% wmH

3. » 5% @



4 o 6.25% g

Question Number : 102 Question Id : 5096478708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Ajay purchased 30 chocolates for Rs. 75 and sold 16 chocolates for Rs. 50, then what is his gain percentage?
Options:
1. = 20%

2. v 25%

Question Number : 102 Question Id : 5096478708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It =T & T 75 H 30 Tieee @i § 3T T9F 50 F 16 Tieeie 3= 2T, I 3T oy uiaeg uar 17

Options:

1 = 20%
2. v 25%
3. % 30%
4w 15%

Question Number : 103 Question Id : 5096478709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Radhika sold an article for a profit of 60%. If she had bought it at 60% less and sold for Rs. 23 less, she would have
gained 70%. What is the cost price of the article (in rupees)?

Options:
1. = 20

? % 30

3. ¢ 25

4 = 40

Question Number : 103 Question Id : 5096478709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt & wok FEg F 60% T T ATT| I IWS 5H 60% A HAT F gl & dR vy 28 A A
F47 &, I 3H 70% T S BIIST g TEG N AT Ao (T H) TG FL?

Options:

1. = 20
2 % 30
3.« 25
4 = 40

Question Number : 104 Question Id : 5096478710 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A man bought bluetooth speakers marked at Rs. 7500, with a discount of 20% offered on the marked price. How much
additional discount must be offered to the man to bring the net price to Rs. 52807

Options:



1. v 12%

¥ % 10%
3 % 8%
A % 15%

Question Number : 104 Question Id : 5096478710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF HEGHT o T9F 7500 Hfha Hew amer sogy T 20% # T W WG| TR F T9¥ 5280 F >
e R Ties & e et & et sfafea ge & s =nfge?

Options:
1. v 12%
2 % 10%
2w 8%
4 % 15%

Question Number : 105 Question Id : 5096478711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Atul sold a carpet by allowing a discount of 40% on the marked price and thereby he incurred a loss of 30%. If he were
to sell it at the marked price, his profit percent would have been:

Options:

2
1« 255%



3 % 16%

Zp
4 v 163 Yo

Question Number : 105 Question Id : 5096478711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I o IHfhd HoT W 40% F TT AT T Frelid a= AR FEE 3/ 30% H @A g9l A 9@ W
AT AT W F=a, ar IHe w13 Fiaed e g

Options:

- 2520,

3

3_ % 16%

4 162%

Question Number : 106 Question Id : 5096478712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the simple interest for 1 year and 8 months on a sum of Rs. 51600 at the rate of 12% per annum?
Options:
1. & Rs.9320

7 & Rs. 10320



3. % Rs. 11320

4. % Rs.8320

Question Number : 106 Question Id : 5096478712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIT 51600 HT TREr 97 12% I $Fr 2T T 1 a9 37 8 7= & BT TReT 3= F47 g7

Options:

1. = T9320

2 o ¥10320

3. % T11320

4. % T8320

Question Number : 107 Question Id : 5096478713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money amounts to Rs. 11100 at 8% per annum simple interest in 6 vears. The simple interest on the same sum
for 9 months at 7.5 % per annum is:

Options:
1. & Rs. 420.875

7 % Rs.428.875

3. % Rs.431.875



A. « Rs. 421875

Question Number : 107 Question Id : 5096478713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fAfeea offr 8% =1 @rurror sos $Frex & 6 It F 9T 11100 93 & = &1 ar =@ Afesg
TR 9X 7.5% T8 TaRor =T A T ¥ 9 HEA & AT @eRer s 94 1
Options:

1. » TI9 420.875

2 % TOF 428.875

3. % TIT 431.875

4. v TI 421.875

Question Number : 108 Question Id : 5096478714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A principal amounts to Rs. 4720 in 6 vears and to Rs. 5200 in 8 years, each sum being invested at the same simple
interest. The principal was:

Options:
1. ¥ Rs. 3280

7 % Rs.3180

3. % Rs. 3080

Question Number : 108 Question Id : 5096478714 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

T Fewd 6 I8t # Y 4720 R 8 Iut F T9F 5200 @ ST §, TAF TN FH 3H FURT s R
fraer &Far o7 T 81 A 9ar Y R e Far em

Options:
1. v T9F 3280
2 % I 3180
3. % TIT 3080
4. % TIT¥ 3380

Question Number : 109 Question Id : 5096478715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simple interest on a certain sum for 2 years is Rs. 600 and the compound interest is Rs. 645. What is the rate of
interest?
Options:

1. % 10%

7 % 12%

3 v 15%

A % 18%

Question Number : 109 Question Id : 5096478715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fAfaa afr W 2 aut & e wruRer sore 399 600 3R wHITE S T 645 F| =TS EX I4T 12

Options:



1. = 10%

2 % 12%
3. v 15%
4. % 18%

Question Number : 110 Question Id : 5096478716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum has been invested for 3 years, compounded at 6%, 12% and 24% respectively. In 3 years, if the sum amounts to
Rs. 184016, find original sum.

Options:
1. # Rs. 115000

7« Rs. 125000

3. % Rs. 135000

A. % Rs. 140000

Question Number : 110 Question Id : 5096478716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve fAffaa affr =1 ween 6%, 12% 3R 24% + TfE == W 3 a9t & v @3 G s &
3 Fut &, of afr T 184016 g = &, & 77 v 7@ F

Options:

1. %= % 115000



2 » %125000

3. % T 135000

4. = 140000

Question Number : 111 Question Id : 5096478717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The diagonal of a cube is V6912 cm. What is its volume (in cm?)?
Options:
1. «+ 110592

7 % 110295

3. % 110529

A % 101592

Question Number : 111 Question Id : 5096478717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T G FT 0T /6912 cm 1 $HH HTAA (cm*H) IaT L2

Options:

1. «» 110592

2 % 110295



3. % 110529

4. » 101592

Question Number : 112 Question Id : 5096478718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius and height of a cone are each increased by 40%. Then the volume of the cone increases by:
Options:
1. &= 100%

3. v 174.4%

A % 196.6%

Question Number : 112 Question Id : 5096478718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o B R Ferg At # 40% H iy H S E A A W R o F e 7 e 3 g
Options:

1. = 100%

2w« 155.5%

3. v 174.4%



4. % 196.6%

Question Number : 113 Question Id : 5096478719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cylindrical vessel of radius of 8 cm contains water. A solid sphere of radius 6 cm is dipped into the water until it is
completely immersed. The water level in the vessel will rise by:

Options:

1. % 55cm

3 % 40cm

4« 45cm

Question Number : 113 Question Id : 5096478719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 cm FA=aT Il JTEFER TAF H FT I g1 6 cm AT IR TF W g F 3EA T AE@ § ga
FaT g1 a9 L T 999 F 9 7 T ohdaT S

Options:

1. = 55 cm
2 % 3bcm
3. % 40 cm

4. v 45 cm



Question Number : 114 Question Id : 5096478720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sampath can finish a piece of work in 80 days. He works on it for 16 days, then leaves, and then Mohan finishes it in 32
days. Working together, how long will they take to complete the same work?

Options:

2 -
1. v 26; days
2 x 112 days
:2 ES
3« 255 days

4. % 80days

Question Number : 114 Question Id : 5096478720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS & UF FA U FA A 80 o F1 AT 97T g1 9 16 AT G W W FH Far g, BT FA
oI5 & ¢, 3R i As 59 32 Ra F @ awar g1 3R S vw-my e 1 W, 30w A
W & H fordar G747 Feem?

Options:

26§ e

1. v
2« 12 R=
3 25- f&=
4.« 80 R

Question Number : 115 Question Id : 5096478721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A can finish a piece of work in 30 days and B can finish the same piece of work in 50 days. They start the work
together, but B leaves after some time, and A finishes the work in 14 days. After how many days from the start did B
leave?
Options:

1. = 15days

2 x 12days

3 o l0days

4. » 20days

Question Number : 115 Question Id : 5096478721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR TEFTFRT AN T T g T e INBFT I FA RS A0 Ra T arRg sorar 21 3
TF WY FHA FAT YF TS &, AT $T TAT 915 B F1A o5 21 &, 3R A 14 & & 17 @ =
gl ar 7ar # & F oF g & fhaw &S 915 B 7 F1A orF fEmr ar?

Options:

1. = 15 fe=

2.« 12w

3.« 10 %=

4 = 20 fea

Question Number : 116 Question Id : 5096478722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

? % i 5 . 4 :
An aeroplane covers a certain distance at a speed of 140 kmph in 7 hours. To cover the same distance in 1 P hours, it
must travel at a speed of (in kmph):

Options:



1. ¢ 420
? % 720

3. % 840

Question Number : 116 Question Id : 5096478722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ma?rémsrmokmph@r?rﬁ-’r#?é%ﬁwﬁrﬁm@mm%mﬁaﬁaﬁlgéﬁrﬁ
o A & e, 37 GFael afa (kmph #) & I 97 A @O

Options:
1. « 420
2 % 720
3. % 840
4. = 520

Question Number : 117 Question Id : 5096478723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Priva can cover a certain distance in 168 minutes by covering two-third of the distance at 8 km/h and the rest at 10km/h.
What is the total distance covered by Priya?

Options:
1. = 20km



? % 15km

3 % 18km

4« 24km

Question Number : 117 Question Id : 5096478723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R v @fRea gl & - R #1 8 kmh AR arhr # g #1 10 kmh &7 7f F a7 S E
5w 3% 168 fme &1 w7y oo g1 af 9 & F B a 3o fraet g a7 $r

Options:
1. % 20 km
2 % 15 km
3. % 18 km
4. v 24 km

Question Number : 118 Question Id : 5096478724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
By riding a bike, Vijay crosses a bridge with the speed of 108 kmph. What is the length of the bridge, if he takes 8 min

to cross the bridge?
Options:
1. = 12200 m

7 « 14400 m



3. % 13600m

A % 15000 m

Question Number : 118 Question Id : 5096478724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fasr a18% WX 108 kmph & 71fd ¥ TF I 9K FIar g1 T 3/ IF K L A 8 min F TART o1
&, & g7 F e g w2
Options:

1. %= 12200 m

2 » 14400 m

3. % 13600 m

4. % 15000 m

Question Number : 119 Question Id : 5096478725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



An International school has four sections of Class VIII students: S1, S2, S3, 54.
The results of Summative Assessment -1 and Summative Assessment-2 are shown in the table given below.

Na. of Stadents

Result Section Section Section Section
51 52 53 54
Students failed in botl Exams &2 46 34 54

Students failed in Summative
Assessment-1

o ¢ ¥
but passed in Summative Asscssment 8 4 16 6
-1
Students passed in Summative
Assessment-1 5
bt failed in Sununative Assessment- b b4 13 )
2
Students passed in both Exams 128 1o 92 152

Which section has the maximum pass percentage in at least one of the two examinations?
Options:
1. = s2

? = Sl

3. v 54

4 = S3

Question Number : 119 Question Id : 5096478725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T AW Thel A VI F&T & BT F 91 da9 & S1, S2, S3, S4
A & 715 aiforer & ARTeA® Hedied - 1 HR ARTcHS Hedmed - 2 & 9RonE R aw F)

qRumH EIE e

TRF | TRF | TR | iR
S1 | S2 | S3 | sS4
2t aitemst # Rwe o 56 | 46 | 34 | 54

daere Aedied - 1 A favwe Afa deeRs Ao - 2 A @%a 19| 28 | 24 | 16 | 26

TMere Heaied - 1 # T ofdd Icrs Aediea - 2 A fawer o/ 12 | 34 | 18 | 30
2t ofemat & wow o 128 | 110 | 92 | 152

sAH ¥ W @ F F7 @ &7 or gfiensdt # 3xfOean 3o gfaea g Fr g2

Options:

1. = 82
2 = S1
3. v S4
4. = S3

Question Number : 120 Question Id : 5096478726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T HIWSET Tpel A VI F&T & OTEr % 9% Fa2 & S1, S2, S3, S4
A & 71 Ao & decAE Hodied - 1 3R TNcAs Jedled - 2 & 9RonH T v g

gRoTH oTEr T 7Ew
| R | d9E | 4R

s1 | s2 | 3| s4
2t oiemst & s o 56 | 46 | 34 | 54

TR Fedide - 1 & Rwa afda oeens geuia - 2 F Aear o9 28 | 24 | 16 | 26
AR Al - 1 & A% olfdd AMeRs Aediea - 2 A Awar o| 12 | 34 | 18 | 30
gt Tienst # wEa o 128 | 110 | 92 | 152

A ¥ FF fFa & ARTcAS HEards - 2 @ 9UaT H 3fEdd Fhedr et 9eg #r g?

Options:

1. = S4
2. v Si
3. = S2
4 = S3

Question Number : 120 Question Id : 5096478726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



An international school has four sections of Class VIII students: S1, S2, S3, S4.
The results of Summative Assessment -1 and Summative Assessment-2 are shown in the table given below.

No. of Students

Result Section Section Section Section
51 52 53 54
Students failed in both Exams 56 46 34 54
Students failed in Summative
Assessment-1 i - =)
but passed in Summative Assessment 28 % 16 26
=2
Students passd:d m Summative
Assessment-1 -
but farled m Summative Assessment- 12 34 18 30
2
Students passed in both Exams 128 110 a2 152

Which Section has the maximum success rate in Summative Assessment-2 Examination?
Options:

1. & s4

2.« Sl

3. 0w 82

4 = S3

General Englishi

Group Number : 7
Group Id: 509647138
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 509647298

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647430
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5096478727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

An interview is an excellent opportunity for a candidate to
himself or herself before the employer.

Options:

1. = protect
2. = perfect
3. v project
4. = prefect

Question Number : 121 Question Id : 5096478727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

An Interview Is an excellent opportunity for a candidate to

himself or herself before the employer.

Options:

1. = protect

2. = perfect



3. v project
4. = prefect

Question Number : 122 Question Id : 5096478728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Does that mean that you are against economic in the
country and want more controls?

Options:

1. v liberalization
2. » licentiousness
3. = restriction

4, » rashness

Question Number : 122 Question Id : 5096478728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Does that mean that you are against economic In

the country and want more controls?

Options:

1. ¢« liberalization
2. % |icentioushess
3. % restriction

4. = rashness

Question Number : 123 Question Id : 5096478729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

Shreya’s hard work and paid rich dividends when his
employer gave him a promotion.
Options:

1. = preservation
2. = prevarication
3. » persistence

4. v perseverance

Question Number : 123 Question Id : 5096478729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Shreya’s hard work and paid rich dividends when

his employer gave him a promotion.

Options:

1. = preservation
2. = prevarication
3. ® persistence

4. v perseverance

Question Number : 124 Question Id : 5096478730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Seeing the errors in the report the Editor shouted at the
trainee correspondents.
Options:

1. = glowing



2. = gleaming
3. v glaring
4. = glazing

Question Number : 124 Question Id : 5096478730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Seeing the errors In the report the Editor shouted at

the trainee correspondents.

Options:

1. = glowing
2. % gleaming
3. v glaring
4. = glazing

Question Number : 125 Question Id : 5096478731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given.

Hand in glove

Options:

1. = Wearing warm clothes

2. = Trying to keep away from infection
3. v In close assoclation with

4. = Unable to keep up with friends

Question Number : 125 Question 1d : 5096478731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct meaning of the idiom given.

Hand In glove

Options:

1. = Wearing warm clothes
2. » Trying to keep away from infection
3. v In close association with

4, = Unable to keep up with friends

Question Number : 126 Question Id : 5096478732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

When I entered the room it was dark so 1 a match.

Options:

1. = light

2. v lit

3. = lights
4. = lighting

Question Number : 126 Question Id : 5096478732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

When | entered the room it was dark so | a match.
Options:
1. = light

2. v |it



3. = lights
4. = lighting

Question Number : 127 Question Id : 5096478733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Do you think he is right person to be made Chief
Minister of the State?

Options:

1. ¢ the, the
2. % a,a

3. = g, the
4, = the, a

Question Number : 127 Question Id : 5096478733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Do you think he Is right person to be made
Chief Minister of the State?

Options:

1. v the, the
2. % a, a

3. = a, the
4. = the, a

Question Number : 128 Question Id : 5096478734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

She didn’t hesitate even a moment before selecting the
dress her choice.

Options:

1. = of, for
2. = to, by
3. = to, from
4. « for, of

Question Number : 128 Question Id : 5096478734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

She didn’t hesitate even a moment before selecting

the dress her choice.

Options:

1. = of, for
2. % to, by
3. = to, from

4. ¢ for, of

Question Number : 129 Question Id : 5096478735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The person we went to consult is a senior lawyer in this
court.

Options:

1. * who



2. v whom
3. = which
4, = what

Question Number : 129 Question Id : 5096478735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The person we went to consult is a senior lawyer

In this court.

Options:

1. = who
2. v whom
3. = which

4. = what

Question Number : 130 Question Id : 5096478736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Tanvika is short but she than Ritika.

Options:

1. » more taller
2. » tallest

3. v taller

4. = tall

Question Number : 130 Question Id : 5096478736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

Tanvika 1s short but she than Ritika.

Options:

1. = more taller
2. = tallest
3. v taller

4. = tall

Question Number : 131 Question Id : 5096478737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct passive form of the sentence.

Robert can speak three languages fluently.

Options:

1. v Three languages can be spoken fluently by Robert

2. = Three languages have been spoken fluently by Robert
3. = Three languages are speaking fluently by Robert

4. = Three languages are being spoken fluently by Robert

Question Number : 131 Question Id : 5096478737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct passive form of the sentence.

Robert can speak three languages fluently.

Options:

1. v Three languages can be spoken fluently by Robert

2. » Three languages have been spoken fluently by Robert



3. » Three languages are speaking fluently by Robert
4. = Three languages are being spoken fluently by Robert

Question Number : 132 Question Id : 5096478738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct direct form of the sentence.

She said that I had to see the doctor the following week.

Options:

1. = She said, “you have seen the doctor next week.”

2. v She said, “you have to see the doctor next week.”

3. = She said, “you have to see the doctor the following week.”
4. = She said, “she will have to see the doctor next week.”

Question Number : 132 Question 1d : 5096478738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct direct form of the sentence.

She said that | had to see the doctor the following week.

Options:

1. = She said, “you have seen the doctor next week.”
2. v She said, “you have to see the doctor next week.”

3. * She said, “you have to see the doctor the following

week.”

4, = She said, “she will have to see the doctor next week.”

Question Number : 133 Question Id : 5096478739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

The tourist industry in India brings a considerable
foreign exchange.

Options:

1. = out
2. % Up
3. % on
4, v in

Question Number : 133 Question Id : 5096478739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The tourist industry in India brings a considerable

foreign exchange.

Options:

1. = out
2. % Uup
3. % 0on

4. v In

Question Number : 134 Question Id : 5096478740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The superintendent of examinations told us that and we
could start writing after the bell rang.

Options:

1. ¥ nothing was the matter



2. = there was no any matter
3. » there wasn’t any matter
4. = nothing were the matter

Question Number : 134 Question Id : 5096478740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The superintendent of examinations told us that and

we could start writing after the bell rang.

Options:

1. v nothing was the matter
2. % there was no any matter
3. = there wasn’'t any matter

4. = nothing were the matter

Question Number : 135 Question Id : 5096478741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Diya has no confidence her employees.

Options:

1. = on
2. v 1n
3. = with
4. = for

Question Number : 135 Question 1d : 5096478741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

Diya has no confidence her employees.

Options:

1. = on
2. v in
3. = with
4, = for

Question Number : 136 Question Id : 5096478742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A, are of ancient origin
B. the games

C. we now play

D. most of

Options:

1. = DACB
2. » CBDA
3. v DBCA
4. = BACD

Question Number : 136 Question Id : 5096478742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

are of ancient origin
the games

we now play

OO w2

most of

Options:

1. = DACB
2. = CBDA
3. v DBCA
4. = BACD

Question Number : 137 Question Id : 5096478743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. hasled to

B. massive industrialization too
C. of the environment

D. serious pollution

Options:

1. v BADC
2.« DCAB



3. = BCDA
4. » CDBA

Question Number : 137 Question Id : 5096478743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

has led to
massive Industrialization too

of the environment

O O W oF

serious pollution

Options:

1. v BADC
2. = DCAB
3. = BCDA
4. = CDBA

Question Number : 138 Question Id : 5096478744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. have ensured that the company
B. some clever steps

C. taken by the Chairman

D. gets brisk business



Options:

1. = CABD
2. = ABDC
3. v BCAD
4. = BADC

Question Number : 138 Question 1d : 5096478744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. have ensured that the company
B. some clever steps
C. taken by the Chairman

D. gets brisk business

Options:

1. = CABD
2. = ABDC
3. v BCAD
4. = BADC

Question Number : 139 Question Id : 5096478745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. naturally quiet and
B. some people are

C. others are speaking
D. enjoy listening while

Options:

1. = BCAD
2. » BDCA
3. = ACBD
4. v BADC

Question Number : 139 Question 1d : 5096478745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. naturally quiet and
B. some people are
C. others are speaking
D.

enjoy listening while
Options:

1. = BCAD
2. = BDCA
3. = ACBD



4. v BADC

Question Number : 140 Question Id : 5096478746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. to think that computers
B. they cannot

C. can think like people

D. it is very misleading

Options:

1. = BACD
2. v DACB
3. = DBAC
4. = ACBD

Question Number : 140 Question Id : 5096478746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. to think that computers
B. they cannot
C. can think like people

D. it 1s very misleading

Options:



1. = BACD
2 DACB
3. = DBAC
4. = ACBD

<

General English?
Group Number : 8
Group Id: 509647139
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?2

Section Id : 509647299

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647431
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 5096478747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

This winter the tree was devoid of any greenery.

Options:



1. = crowd
2. » decent
3. v empty
4. = cramped

Question Number : 141 Question Id : 5096478747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

This winter the tree was devoid of any greenery.

Options:

1. = crowd
2. « decent
3. v empty

4. = cramped

Question Number : 142 Question Id : 5096478748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Compared with the abundant rainfall last year this year’s
rainfall here has been scanty.

Options:

1. = scarce

2. = common
3. = limited
4. v plentiful

Question Number : 142 Question Id : 5096478748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

Compared with the abundant rainfall last year this year’s

rainfall here has been scanty.

Options:

1. = scarce
2. * common
3. = limited
4. v plentiful

Question Number : 143 Question Id : 5096478749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

It is common to invite film stars to endorse cosmetic products.

Options:

1. = discard
2. v certify
3. = reject

4. = deny

Question Number : 143 Question Id : 5096478749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

It Is common to Invite film stars to endorse cosmetic

products.

Options:

1. = discard



2. v certify
3. = reject
4, = deny

Question Number : 144 Question 1d : 5096478750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

To deflect the child’s attention, the mother showed him a new
toy.

Options:

1. = focus

2. = involve
3. v distract
4. = comprise

Question Number : 144 Question 1d : 5096478750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

To deflect the child’s attention, the mother showed him a

new toy.

Options:

1. = focus

2. = Involve
3. v distract
4. = comprise

Question Number : 145 Question Id : 5096478751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

The fire accident caused a commotion in the neighbourhood.

Options:

1. * movement
2. v uproar
3. = crowd
4. = multitude

Question Number : 145 Question Id : 5096478751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The fire accident caused a commotion in the neighbourhood.

Options:

1. = movement
2. v uproar
3. % crowd

4. = multitude

Question Number : 146 Question Id : 5096478752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

It would be a wonder if the player accedes to the umpire’s
decision of a no-ball.

Options:

1. = surpasses
2. = gvercomes



3. v rejects
4. = consents

Question Number : 146 Question Id : 5096478752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

It would be a wonder If the player accedes to the umpire’s

decision of a no-ball.

Options:

1. = surpasses
2. ® overcomes
3. v rejects

4. = consents

Question Number : 147 Question 1d : 5096478753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The notice requested all the residents to comply with rules
and regulations regarding waste disposal.

Options:

1. = Fulfil
2. v Disohey
3. % Agree
4. = Settle

Question Number : 147 Question 1d : 5096478753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the underlined word.

The notice requested all the residents to comply with rules

and regulations regarding waste disposal.

Options:

1. = Fulfil
2. v Disobey
3. = Agree
4. = Settle

Question Number : 148 Question Id : 5096478754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The summer thunderstorms caused sporadic power shut
downs.

Options:

1. = random

2. = tedious
3. v regular
4. = dreary

Question Number : 148 Question Id : 5096478754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The summer thunderstorms caused sporadic power shut

downs.

Options:



1. = random
2. = tedious
3. v regular
4. % dreary

Question Number : 149 Question Id : 5096478755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Films and television create an illusion of social behaviour that
influences young minds.

Options:

1. v reality

2. = deception
3. » Imagination
4. = dream

Question Number : 149 Question Id : 5096478755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Films and television create an illusion of social behaviour

that influences young minds.

Options:

1. ¢ reality

2. » deception
3. = Imagination
4

. # dream



Question Number : 150 Question Id : 5096478756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Her arguments in favour of the project were cogent and
forceful.

Options:

1. ¥ unconvincing
2. = rational

3. = strong

4. = confusing

Question Number : 150 Question Id : 5096478756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Her arguments in favour of the project were cogent and

forceful.

Options:

1. v unconvincing
2. = rational
3. = strong
4

* confusing

Sub-Section Number: 2
Sub-Section 1d: 509647432
Question Shuffling Allowed : Yes

Question Id : 5096478757 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)



Question Label : Comprehension



Read the following passage and answer the questions that
follow.

The Sumerians were the first known people to settle in
Mesopotamia over 7,000 years ago. Located in the
southernmost part of Mesopotamia between the Tigris and
Euphrates rivers (modern day Iraq), Sumer was often called
the cradle of civilization. By the 4th millennium BC, it had
established an advanced system of writing, spectacular arts
and architecture, astronomy and mathematics. The
Akkadians would follow the Sumerians, borrowing from their
culture, producing a new language of their own, and creating
the world’s first empire.

The Sumerians were among the first known cultures to
develop many benchmarks that are used to define a
"civilization”. They are credited with the establishing codes of
law, the plough, the sailboat, and a lunar calendar. They also
developed a numerical system, based on the number 60 that
is still used to measure seconds and minutes. However,
probably the most famous legacy is their writing system. The
Sumerians devised one of the earliest writing system known
as cuneiform or wedge-shaped symbols. The earliest known
cuneiform inscriptions were found in the lower Tigris-
Euphrates Valley in what is now south-eastern Iraq and date
from about 3,000 BC. Writers made the symbols by pressing a
pointed instrument called a stylus into wet clay tablets.

The Sumerians, however, did not invent paper and used a
different medium for their cuneiform script. Documents and
text were inscribed by the Sumerians on clay tablets, which
has the advantage of greater durability than paper. One of the
consequences of this is that a large number of Sumerian clay
tablets have survived over the millennia and have been
unearthed by archaeologists. Once the Sumerian language
was deciphered, much information could be obtained from
these tablets. The Sumerian language is considered to be a
language isolate, which means that there is currently no
known language related to it. This language emerged in the
Sumerian civilization, which was based in southern
Mesopotamia (modern day southern Iraq), and was first
attested around 3100 BC. In the millennium that followed, the
Sumerian civilization flourished and with it their language.
During the 24th century BC, northern and southern
Mesopotamia were unified under the Akkadians, who created
the world’s first empire. The Akkadian language gradually
replaced Sumerian as a spoken language. Nevertheless, the
Sumerian language continued as a written language for a
much longer period of time, though its usage was greatly
diminished. Written Akkadian ceased to be used around the
beginning of the Christian period and Sumerian went extinct
shortly before this happened.



Sub questions

Question Number : 151 Question Id : 5096478758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage is mainly about the:

Options:

1. = Spectacular arts and architecture of Mesopotamia

2. v The unique contributions of the Sumerian civilization
3. » The first-known people of Mesopotamia

4. = The benchmarks of a great civilization

Question Number : 152 Question Id : 5096478759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The script of the Sumerian language was called:

Options:

1. = Stylus
2. = Isolate
3. v Cuneiform
4. = Wedge

Question Number : 153 Question 1d : 5096478760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage the greatest contribution of the
Sumerian civilization was the invention of :

Options:

1. = codes of law

2. = the plough, the sailboat, and a lunar calendar
3. » a numerical system, based on the number 60
4. v a system of writing

Question Number : 154 Question Id : 5096478761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How do we know about the Sumerian language?

Options:



1. * The Akkadians’s inscriptions on their monuments
describe it.

2. = Archaeologists have found references to it recorded in
books.

3. v Sumerian inscriptions were found on clay tablets.
4. = The Akkadian language has written documents about it.

Question Number : 155 Question Id : 5096478762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which statement is not true according to the passage?

Options:

1p. = Akkadian language came later than the Sumerian
language.

2. = Sumerian clay tablets have survived over many million
years.

3. v The first empire was created by the Sumerians.

4. = Northern and southern Mesopotamia were not unified
under the Akkadians

Question Id : 5096478757 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that
follow.

The Sumerians were the first known people to settle in
Mesopotamia over 7,000 years ago. Located in the
southernmost part of Mesopotamia between the Tigris and
Euphrates rivers (modern day Iraq), Sumer was often called
the cradle of civilization. By the 4th millennium BC, it had
established an advanced system of writing, spectacular arts
and architecture, astronomy and mathematics. The
Akkadians would follow the Sumerians, borrowing from their
culture, producing a new language of their own, and
creating the world’s first empire.

The Sumerians were among the first known cultures to
develop many benchmarks that are used to define a
"civilization”. They are credited with the establishing codes
of law, the plough, the sailboat, and a lunar calendar. They
also developed a numerical system, based on the number
60 that is still used to measure seconds and minutes.
However, probably the most famous legacy is their writing
system. The Sumerians devised one of the earliest writing
system known as cuneiform or wedge-shaped symbols. The
earliest known cuneiform inscriptions were found in the
lower Tigris-Euphrates Valley in what is now south-eastern
Irag and date from about 3,000 BC. Writers made the
symbols by pressing a pointed instrument called a stylus

into wet clay tablets.

The Sumerians, however, did not invent paper and used a
different medium for their cuneiform script. Documents and
text were inscribed by the Sumerians on clay tablets, which
has the advantage of greater durability than paper. One of
the consequences of this is that a large number of
Sumerian clay tablets have survived over the millennia and
have been unearthed by archaeologists. Once the Sumerian
language was deciphered, much information could be
obtained from these tablets. The Sumerian language is
considered to be a language isolate, which means that there
is currently no known language related to it. This language
emerged in the Sumerian civilization, which was based in
southern Mesopotamia (modern day southern lraq), and was
first attested around 3100 BC. In the millennium that
followed, the Sumerian civilization flourished and with it their
language. During the 24th century BC, northern and
southern Mesopotamia were unified under the Akkadians,
who created the world’s first empire. The Akkadian language
gradually replaced Sumerian as a spoken language.
Nevertheless, the Sumerian language continued as a written
language for a much longer period of time, though its usage
was greatly diminished. Written Akkadian ceased to be used
around the beginning of the Christian period and Sumerian

went extinct shortly before this happened.



Sub questions

Question Number : 151 Question Id : 5096478758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage Is mainly about the:

Options:

1. = Spectacular arts and architecture of Mesopotamia
2. v The unique contributions of the Sumerian civilization
3. # The first-known people of Mesopotamia

4. = The benchmarks of a great civilization

Question Number : 152 Question Id : 5096478759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The script of the Sumernan language was called:

Options:

1. = Stylus
2. = |solate
3. v Cuneiform

4. » Wedge

Question Number : 153 Question Id : 5096478760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage the greatest contribution of the

Sumerian civilization was the invention of :

Options:

1. = codes of law
2. = the plough, the sailboat, and a lunar calendar
3. = a numerical system, based on the number 60

4. v a system of writing



Question Number : 154 Question Id : 5096478761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How do we know about the Sumerian language?

Options:

1. = The Akkadians’s inscriptions on their monuments

describe It.

2. = Archaeologists have found references to it recorded In

books.
3. v Sumerian inscriptions were found on clay tablets.

4. = The Akkadian language has written documents about It.

Question Number : 155 Question Id : 5096478762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which statement 1s not true according to the passage?

Options:

1. = Akkadian language came later than the Sumerian

language.

2. » Sumerian clay tablets have survived over many million

years.
3. v The first empire was created by the Sumerians.

4. = Northern and southern Mesopotamia were not unified
under the Akkadians

Sub-Section Number: 3
Sub-Section 1d: 509647433
Question Shuffling Allowed : Yes

Question Id : 5096478763 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Read the following passage and answer the questions that
follow.

The world is full of possibilities and some folks are able to
find jobs that one never imagined existed.

Take Surjeet, for example. The young gentleman is a train
driver. Nothing unusual. But he drives a toy train that doesn’t
chug along in a zoo or an adventure park but in a city
shopping mall.

“I spend the whole day driving the train here on the mall’s
ground floor,” he says, as his four —coach train halts at the
ticket counter—the service is operated by an adventure games
company. The mall is huge and the rupees 200 joy-ride
consists of two rounds that take about ten minutes.

One might naturally be curious about the series of
circumstarnces that led Surjeet to such an unlikely line of
employment. But it is not so surprising on following the arc of
his life. He began his career at a ‘fun park’ in Silliguri, West
Bengal, where he manned the counter at a video games
parlour. Soon afterwards, he says, the park started a toy train
service for kids and I successfully applied for the vacancy. He
went on to do more such ‘toy train jobs’ in Kolkata and
Raipur before settling down in this Gurugram mall some six
months ago.

“I watch little children having such a good time and that
makes me feel good,” says the driver while waiting for a fresh
batch of customers.

Some minutes later the mall starts echoing with the sound of
bells. That’s Surjeet warning the mall shoppers to make way
for his express.



Sub questions

Question Number : 156 Question Id : 5096478764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage is mainly about:

Options:

1. = Making children feel happy

2. * Enjoying one’s tough job

3. v Joining a different kind of profession
4. = Working in a shopping mall

Question Number : 157 Question Id : 5096478765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following sums up Surjeet’s career path?

Options:

1. = He never dreamt of doing such work

2. = His decision shocked his family

3. = He had planned to apply for it all along

4. v He worked 1n similar professions throughout

Question Number : 158 Question Id : 5096478766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the passage we can infer that Surjeet is:

Options:

1. = Kind-hearted
2. » Hard-working
3. v Contented

4. = Impatient

Question Number : 159 Question 1d : 5096478767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the toy train being run?

Options:

1. = In the fun park in the zoo



2. v On the ground floor of a mall
3. » Near a video games parlour
4. = On a busy street

Question Number : 160 Question Id : 5096478768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT true about the passage?

Options:

1. v Surjeet had worked with trains in a Zoo

2. * The joy-ride 1s organized by an adventure games company
3. = Surjeet joined this job about six months ago

4. = It is not all surprising that he is doing this job

Question Id : 5096478763 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that
follow.

The world 1s full of possibilities and some folks are able to
find jobs that one never imagined existed.

Take Surjeet, for example. The young gentleman is a train
driver. Nothing unusual. But he drives a toy train that doesn’
t chug along In a zoo or an adventure park but in a city
shopping mall.

“| spend the whole day driving the train here on the mall’s
ground floor,” he says, as his four -coach train halts at the
ticket counter—the service is operated by an adventure
games company. The mall is huge and the rupees 200 joy-
ride consists of two rounds that take about ten minutes.
One might naturally be curious about the series of
circumstances that led Surjeet to such an unlikely line of
employment. But it i1s not so surprising on following the arc
of his life. He began his career at a fun park’ in Silliguri,
West Bengal, where he manned the counter at a video
games parlour. Soon afterwards, he says, the park started a
toy train service for kids and | successfully applied for the
vacancy. He went on to do more such ‘toy train jobs’ in
Kolkata and Raipur before settling down in this Gurugram
mall some six months ago.

“| watch little children having such a good time and that
makes me feel good,” says the driver while waiting for a
fresh batch of customers.

Some minutes later the mall starts echoing with the sound
of bells. That's Surjeet warning the mall shoppers to make

way for his express.



Sub questions

Question Number : 156 Question Id : 5096478764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage I1s mainly about:

Options:

1. = Making children feel happy

2. » Enjoying one’s tough job

3. v Joining a different kind of profession
4. = Working in a shopping mall

Question Number : 157 Question Id : 5096478765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following sums up Surjeet’'s career path?

Options:

1. * He never dreamt of doing such work
2. = His decision shocked his family
3. = He had planned to apply for it all along

4. v He worked in similar professions throughout

Question Number : 158 Question Id : 5096478766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the passage we can infer that Surjeet Is:

Options:

1. = Kind-hearted
2. » Hard-working
3. v Contented

4, = |mpatient

Question Number : 159 Question Id : 5096478767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where I1s the toy train being run?

Options:

1. = In the fun park in the zoo
2. v On the ground floor of a mall
3. = Near a video games parlour

4. » On a busy street

Question Number : 160 Question Id : 5096478768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following 1s NOT true about the passage?

Options:

1. v Surjeet had worked with trains In a zoo

2. » The joy-ride I1s organized by an adventure games

company
3. = Surjeet joined this job about six months ago

4. = It 1s not all surprising that he i1s doing this job

General Hindil

Group Number : 9
Group Id: 509647140
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi1l



Section Id : 509647300

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647434
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5096478769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST ST R MRt el @R Seere Bl | Uith § @it e &l
are &

Options:

1. v ST
2. % AT
3. * S

4. * GUT

Question Number : 161 Question Id : 5096478769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o1 o feie fasAiRolr o gafta daes s A afda &

I@fohd osg T T &

Options:

1. v S9Tel

2. % ST
3. % d3I9T

4. » SR

Question Number : 162 Question Id : 5096478770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S TSt T 1 0 3 it T ok TR B

Options:



1. = Tqq
2. % T8
3.« T
4, v 9

Question Number : 162 Question Id : 5096478770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ey Smer §1 ufda & I@iferd &1 37T A87 &
.. T
2. % Toyer
3. = AT

4. v AN

Question Number : 163 Question Id : 5096478771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FTAGIY il ST ATell’ & Teld T SIee; I

Options:

1. v 3idga=
2. * BAGMdR
3. » Ufdgna®

4, » RIdcerad]

Question Number : 163 Question Id : 5096478771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STAETE &I SATadel grar & OIT U orsg g

Options:

1. v STagaa

2. = STAIBHER

3. « o




4. = gumqﬁ::m

Question Number : 164 Question Id : 5096478772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

et — o1’ SIeE, W T 37 FT.

Options:
1. * TdITeT - aier
2. % QW - T&T

3. v G - T
4. % qeEY - TG

Question Number : 164 Question Id : 5096478772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fel - Fel’ AE FIH F 39T glem:

Options:

1. = foRaIRT - Ter
2. % OF - LT

3. v T - TohaarT
4. » TEEA - YHwol

Question Number : 165 Question 1d : 5096478773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DI I ATFT BT AN 7T BT &

Options:

1. » A %7 G g MUl

2. v B0 GHT GO A0 Bl
3. * TGT P Jerag U 31
4, * g Igd IS AT gl

Question Number : 165 Question Id : 5096478773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FleT @ T FT HT ¢ FeTT &

Options:




« AY ET TS &r a0

v AU AT E§ Ad S0

TET T STerar] Ze &
* 98 Sgd TS AMEAT &l

Question Number : 166 Question Id : 5096478774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Ig 4T e MR 3 oI IGiTehd T 9, &

Options:

1. v graar=T 91
2. % QA
3. = fagu
4. = T T

Question Number : 166 Question Id : 5096478774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TJg O dlad HER § T IW@fehd T g &

Options:

1. v Hga™r gl
2. * GATH
3. = faeiyor
4. = Torar Aewor

ol
#®

Question Number : 167 Question Id : 5096478775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“GT Y W Y UST g1 HelTH @l A g

Options:

1. * UJdT<Ih GA-TH

2. v AHTIard T
3. * HeIIaTd gaaTH




4, » TS gd-TH

Question Number : 167 Question Id : 5096478775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QT g H SR &1” OdeTH T #T &

Options:

1. % JedAdTdsr HdeTH
2. v MTaeaaa=re gaaTq

TereTTaraes gadTA

4. = TASTaI AdeTH

Question Number : 168 Question Id : 5096478776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WA Pr AT T

Options:

1. v ATHG
2. % HIAC
3. * AR
4. = qq

Question Number : 168 Question Id : 5096478776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AR T [TAYUT B9

1. v Al H+®
2. » ATAT
3. = AR
4

® Hd

c

Question Number : 169 Question Id : 5096478777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<3 T8} o wHAT ¥ YaiTd BhaT B



Options:

1. « IPA®
2. v JIHAE
3. = Tgod®
4. » JTUTddH

Question Number : 169 Question Id : 5096478777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“H 78T I¢ Tohar H Y@ifeha T &

1. = HhAR
2. v 3FHF
3. = REg&wds

L

4, = YIOMIH

Question Number : 170 Question Id : 5096478778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“gg o & YiaX 4T daT g”! ATH | [GiTehd UGS 3

Options:

1. v GaeUaTed 3ETd

2. * GUFAATYD Y
3. » Taewaieayd reqa
4, » MUTq

Question Number : 170 Question Id : 5096478778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g% B & i AT dor &7 ared # J@iiehd g &

Options:

1. v Hagags 37533
2. % mfljﬁ'ﬂa’ruqa 3
3. * QAT 3T




4. = foarg

Question Number : 171 Question Id : 5096478779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

BIF-4T e, Ylead T 32

Options:

1. * 3THCAT
2. % 3B

3. * TR
4. v YT

Question Number : 171 Question Id : 5096478779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ieT-AT ereg Gleer g7

Options:

1. = 3THST

2. % 33T
3. » FId
4. v I

Question Number : 172 Question 1d : 5096478780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DI JT U, BT g2

Options:

1. = 97
2. % Hadq
3. % TgIg
4. v g9

Question Number : 172 Question 1d : 5096478780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hiel HT Tsg FAlTeldl &7

Options:




B W=
®

v g9

Question Number : 173 Question 1d : 5096478781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STl t TER 31 39 a1ad & GiTdhd UTT § PRD 3

Options:

1. v &dl
2. % ©F
3. % I
4, % TEHT

Question Number : 173 Question Id : 5096478781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el k! @R &l 39 d1FT F IWhd HET H FRF &:

Options:

1. v &l

2.
3. % hIOT
4.

Question Number : 174 Question Id : 5096478782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Framrd 7 & P o Seomate 3

Options:

1. * 3T
2. % JodAT
3. % el T



4, v AT

Question Number : 174 Question 1d : 5096478782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeafel@a & O Hia-ar a1 oAk &:

Options:

1. = 384T

2. % 3&dT

3. % Teldl

4. v ST

Question Number : 175 Question Id : 5096478783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el AEE, I TATTT SIT:

Options:

1. » @feAT

2. % @ dAr
3. * @pATAT
4. v FHATIA

Question Number : 175 Question Id : 5096478783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTT 26 T TAITeldT T

Options:

1. = piaET

2.
3. = higgar
4.

Question Number : 176 Question Id : 5096478784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTeIRad # & DIF-4T Ty b A9 g




Options:

1. * 3MTel YATG Yo TAT ST 31

2. v Dol G3f Tdeoll TUR DoeTchal SITHT gl
3. » TS UAT el Dl Gaf [deett ST 31
4. = S H O T Y HgATT 3T U A1

Question Number : 176 Question Id : 5096478784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT & @ FiF-97 gy TFd T ¢

Options:

1.wmm@ﬁﬁrmﬁl

2. v Fel FF fecell T Felehedl ST &
3.%@Hd| uméﬁfﬂ?ﬁﬁ’raﬁﬁ%l
4.%wﬁmwa‘rﬁmﬁm§vﬁl

Question Number : 177 Question Id : 5096478785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTeiiaT # ¥ 9t areg siley:

Options:

1. v W QT St &) ugar g 3l

2. % ¥ 3T 37X HTS el USTI

3. * U Tgl telic @Ier JTgT 37 B gl
4, » g U9 ol Gl o, S dAR gold 8l

Question Number : 177 Question Id : 5096478785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @d # § O3 g SIev:

Options:

1. v AY TU4r S =W ‘-I§tl Ik §l
2. » H 3T 3T 92 T USTI
3. = #Ha Tgl valle Ter gl 3T & gl




4. = g OO I W o, 58 AR Toa &

Question Number : 178 Question Id : 5096478786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Myleiraa # & ey o 8iey:

Options:

1. v 9% 4 Pgl ag AR &

2. % 3N ISR g, 31 BB gl WeA T
3. * g QT G T

4. = QT g, oIGT IS gi Tl vl

Question Number : 178 Question Id : 5096478786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el 7 8 T8 gy ST

Options:

1. v A8 of Fal 98 AN &
2. % 3Tl g9 &, 3 @aﬁﬁﬁ?ﬂ
3. = g TTAT TTehd IR=—AT

4. = AT §, IAT P & TG FeheT

Question Number : 179 Question 1d : 5096478787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Iq § ST 9T, dgd D OdT AT°1 9 919 # IUdTaT & Y ad1syl

Options:

1. v PIeTdTID hATSTT U
2. % TATAATID [T [T SUSTERT

3. % ATdaTId SHaT AU IuaTer
4. = URATIETS haT 8w Suaraa

Question Number : 179 Question Id : 5096478787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



“SIa H STaTeT A, S HH FIAT AT FH A H 3Uared &1
Joh L TSV

Options:

1. v FTel@rde ShATGNUT 3TATRT

2. » TATTaTder haT LYo Suareyg
3. « Jfdaras R [Feayor 3uare
4. » TATOETIS ohaT [FeYoT Iuarey

Question Number : 180 Question Id : 5096478788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g1 I TG § Tg! U Grol gice g'1 I arad § IuaTard T Y garsyl

Options:

1. * UTHTUTET=IG TohaIT TrQIwor 3uaTaar
2. % ATdered TohdT TArSIur ITaTaar
3. v TYFArIG ohdT TarQuur 3uaTaar
4. » GUIATIR TondT TrQWUT JUCTaT

Question Number : 180 Question Id : 5096478788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEl d Td § el T Heed Bleel &' 3Fd TG H YT

Joh L TSV

Options:

1. = IATUETTS ohaT [FeNuT 3Iugrerr
2. = Jfaaraess Tmar [Avor 3uare

3. v TUAArs ohar [Fewor 3uarey
4. « gAIATS ohar @evor 3ugrer

General Hindi2

Group Number : 10



Group Id : 509647141

Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 509647301

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647435
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5096478789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G BT TATIAT=IT e 3

Options:

1. = QAT
2. v QU
3. % 3d
4. » qreud

Question Number : 181 Question Id : 5096478789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

G T TAIARIT 2qeg &

Options:

1.*W
2.¢'§Tﬁ?



3. % TF
4. = qfeud

Question Number : 182 Question 1d : 5096478790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ui’ & TeTq S0 F DI-9T Uqec, Wgh g gidr al

Options:

1.  @l=q
2. % Toely
3. % gar

4, v held

Question Number : 182 Question Id : 5096478790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afer & ToIv gad & FI-AT 2sg TFT T BT ¢l

Options:

1. % hled

2. % doold
3. % 97al
4. v Fold

Question Number : 183 Question Id : 5096478791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘eTer FAgR T T 3RS e 3R Uik & [@iTchd U @1 0T g1 3

Options:

1. = 9
2. % ol

3. % T
4, v gt

Question Number : 183 Question Id : 5096478791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




FTeT TIER el &Y 31T Y 31 Tierd & J&Tehel TG T
T 8l &

Options:

1. = o
2. = @
3. % ¥4I
4.&?@&%

Question Number : 184 Question Id : 5096478792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T gl ST Ot 0 D Uleh & AT 2T, @I U1 g

Options:

1. v 9T
2. % 3T
3. % cqTy
4, » G

Question Number : 184 Question Id : 5096478792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T B o [T U A h Uled H A R R T &

Options:

1. v HATAT

2. % 3oL
3. = TgTY
4. = FHIGT

Question Number : 185 Question 1d : 5096478793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG e, T U T3l o

Options:

1. = Tasg




2. ® ST

3. * gl
4, v &g

Question Number : 185 Question Id : 5096478793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O ¢TsC T TIT oIal &

Options:

1. » T@eg
2. % ST9Td

S.W@ET
4. v gaEg

Question Number : 186 Question Id : 5096478794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey Sree, @ Teetld gidrT &

Options:

1. v Md®
2. % AT
3. = Ahed
4, = Frgfa

Question Number : 186 Question Id : 5096478794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘GreeR’ s T [Delld &iaT &

Options:

1. v g
2. = 379dTel
3. * HTthed
4




Question Number : 187 Question Id : 5096478795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“PIAA AES, BT TAATH TS

Options:

1. » MHa

2. v LTS
3. * ST
4, & =T

Question Number : 187 Question Id : 5096478795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAA’ oo F [ANA TAC:

Options:

1. = fafdAq
2. v TATHATIAh
3. = FaTdel
4, = Hooll

Question Number : 188 Question Id : 5096478796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GITAY S[ee, DT [Aelld giaT 2

Options:

1. = AT
2. % TeTTgIT
3. » YWY
4, v MUY

Question Number : 188 Question Id : 5096478796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITAY e T TdellA gidr &

Options:

*

1. » ATHER



Question Number : 189 Question Id : 5096478797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Icpy’ o Telelld BidT &

Options:

1. v MoE
2. % 9B

3. * 37UTe
4, = 3T

Question Number : 189 Question Id : 5096478797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fcshee” T fadtdH grar &

Options:

1. v fose
2. = IS
3. ® 3Udd
4.

® JeldH

Question Number : 190 Question Id : 5096478798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T Teelld SIee; 3t
Options:

1. v TITIT
2. % Tdeier
3. % FeITIHATT
4, % TIel

Question Number : 190 Question Id : 5096478798 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ST’ T T TG &

Options:

1. v FOTaY
.= FTTerefrer

2
3. % TUel[THATA
4

+

. ® T<fel

Sub-Section Number: 2
Sub-Section 1d: 509647436
Question Shuffling Allowed : Yes

Question Id : 5096478799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



MATTAT TR B UGdT 39d gal SAX Sl

Tid 3T AT T Gra=e A YT g1 TPpid T AT9a O g 4 3K
SITTHT 1T JFa=er gl JTIedTel T 51 Wpid ATa il Igad Ll a1 ATedrer
T UEd o Upid i M 7 g 51+ 1T 37 AT F 310+ 907 T i
T UTH il Ypiad = A SitaT dl Uy [HAT] Thid & SUPRT & HRU

g1 R o HgI RIUAT 4 9 qeall 919 G4, TSAT A1edl, Tad, g8, 31,
ol Tierd ATFd §U Ivg adcd ol &Y YT dhich ITchl Tid i 1 g2eit ar

ATAT PEd GFITET DA & G W WI9d it Thid & Ui AT TS i
WTaT 31 RTgd 31 T o T T aATd WIid BRI AT Ypid
ol JTUHT Fgal th AT W AL S AT SEAW 3G 7T 3 IE Ypid
T g AF B AT et TR 38 3Fd UTpiad fauersi & €7 &
ZlelT USTL AT Yepid & G TGEd! l o § Holdl g dT Tehid & i@
g ST TgT 31 3rze et Uer Tamdf ATeer Ig gl ST [ Tl gf 39eh
T, 99 92T A i ST 21 Upid & [T bl YR & [y T
TITT hl Heu=T G gl Pr AT Fhall

Sub questions

Question Number : 191 Question Id : 5096478800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT = 37U G T &Y =T dgl & ot g2

Options:

1. »gai &

Question Number : 192 Question Id : 5096478801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEITer & TR Gl = IS, i TJId Dl F1Tch Irgivt v AT 3

Options:

1. = a&
2. % e



3. v JUHT

4. % STl

Question Number : 193 Question 1d : 5096478802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTETTST & ST U Id18Y 1o J2AT et WTAT dhgdh HI-e 39

Options:

1. v ATVR &k BT AT &

2. # TTel @X-l T AU g
3. * g WIFT T YIT-T00 DLl g

4, » qg 31 Tl Y& DAl g

Question Number : 194 Question Id : 5096478803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEIT<T @l Yol 100 Y 3
Options:

1. » & 3T 3MTcAT
2. v Ui AR AT
3. * YPpid T R

4, = &g Ud Wi

Question Number : 195 Question Id : 5096478804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEITSr & AR Fereh Te wirid 3MYR 3

1. » Ta=r
2. v Uhid
3. * HH
4. * G

Question Id : 5096478799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



frFaTaf@aT argamer s ggeht 384 TETl 3ol I

Ueplcl 3R ATId T Hesled A ilel &l Yhicd T Ald &
g @ 3T 3TcAT ST Geeey &1 3Tiehrer § &1 Ui Aleld
ST HEHT TET 1 3TMiderTel H AT o Yhic HT Mg H & Sod
foraT 3 38T & 379l #OT MYOT h1 FHAT I =Tl Tplel o
ATeTd Siidel I Geal fohaTl Wepfdr & 3UhRT % HROT & AR
& HElel RN o 58 dedl ofF I, TegAT o1edl, Tdd, FaT,
3fe & 93T Atd gu 3op odcd &l & USTd hidh Solen]
TIMT FT | g2dT FT AT Fghd TFNTIT e F G5 T Aerg
T Ui & Ui AN vaelel ST #Araer & fafga &l asgdr &
faerre quT Il WOt ok FROT HAe[sT Wehfcl T 379
HEWT & TUTT G N Sollel hT G EACA Aot ol HT el
Ui T algel A& F far ST aRumA 38 3ad dhias
fauerstt & ¥ & Siear 957l Alelg whid & e EEAT HI
ol # Heldd & TAT UFid T A7 g1ar 7 T&T gl 3iggeedt
v EaTedl Al I ST Silelcr foF Ui 8 38 AT, Folol
qUT TIh HT Sefeir g Whia & o frdT vsh & fashe va
Wi “hT shedaT T 8T kT ST Gehdll

Sub questions

Question Number : 191 Question Id : 5096478800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl of 379l ETal GTat hT el Fhal T ol &7

Options:

1. = Tar 9
Q.JWQ#



3. % yOTar @
4. = Uh-gEy &

Question Number : 192 Question Id : 5096478801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“'\‘Ta; - ot +ﬁ'-'\ Eﬁrﬁ%ﬁ | ﬂ'i\‘
Sog HTAT &

Options:

1. % 2d
2. = gfaT
3. v 3URNT

4. = STdelcIdl

Question Number : 193 Question 1d : 5096478802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & YR I AV o g2dl FT AT gl HAleld SHFT:

Options:

1. v ITHRT TFd FlaT IEAT &

2. * Ulolel Sl T HOIT &
3. » gg HATdd T FLUT-NYUT HI{dT &

4. » g ool STol Yl Hidl &

Question Number : 194 Question Id : 5096478803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T A [AvT &

Options:

1. = g 3T 3fcAT
2. v Ui 3R A
3. * Wl T HOT



4. = @ g wEIa

Question Number : 195 Question Id : 5096478804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

eI F (AR fahd va qarfey 3R &

Options:

1. = faame
2. v Uhid
3. = 3OTe
4

Sub-Section Number: 3
Sub-Section 1d: 509647437
Question Shuffling Allowed : Yes

Question Id : 5096478805 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

YT ad TR B TgdT 39d gal Sa¥ aaal

WX T F[CYel B o ATl $ider, We- G~ gar # arenit 3 Icoetdr
oG Teil T THT Tel & SMTehIer 7, AT o TG th Sleh UTo & G Al ofTol
TR MelT 33T ST S@d-C@d YT ZIeh gt ALHAT Dl STTer-9T
S-TchY TERTITY U] i oTTTL YUI-WX H T 31T Tool HEHY 3o 37X ¢@d-
C@d ST Wgl T GaTiT [adierar T Aot Wi 37 T 40+ o101 IRT
T gl AT gl 37 2Tl

Sub questions

Question Number : 196 Question Id : 5096478806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTerTer ® Ui 3

Options:

1. v UTd:dhlel Dl




2. % AT Pr
3. % WEgTg AT
4, % YhTSr BT

Question Number : 197 Question Id : 5096478807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Wrany &r a3ref giar a:

Options:

1. = T aTeT
2. % TUeT= aTelT
3. v Ulell THE dTel]

4.« Y

Question Number : 198 Question Id : 5096478808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTerter § o 3T 3

Options:

1.vgiaar

2. % TAJHTTAT ]
3. = Tadierd! @r

4, * TIIGATATII Pl

Question Number : 199 Question Id : 5096478809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myfefad & & orge = g grer fordwor @ w2 T8 T 32

Options:

1. v 3ETE

2. % HYCIHT WY
3. » gadir fdaferar
4. = YT ol

Question Number : 200 Question Id : 5096478810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

I P ATeil SIGT FAT o177 @I 82




Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. #iex f9E”
2. Qg ALAgT
3. Ggell U

4. 3R-9T MelT

Question Id : 5096478805 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

Tl aTEATeT T Tgehd 3Tk Tal 3l alTord]

H T SICULT Beat o o7l efieTel, A-Forlowd gaT # dATeman
AR 3cPeeldl ¢ ol ATl T8 g & 31T A, AT & =y
% & NS @ I FT Tl 3TR-AT el 337 S qTA-3Ed

dIcITeT BIohY Toedl IRALT hT STTe-HT SeTehl Tehraiier YaT et
ofaTT| &TUT-3T 7 & 3T Fool AEHT 3 3N @A-4Ed T
el & FaEN faaferr 3T Ag-emsdT 8k 3 o AsU ol

ART 27 & AAIHIUHRRT & 33T 2Tl

Sub questions

Question Number : 196 Question Id : 5096478806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

regTer H avie §:
Options:
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2. x T Rl
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Question Number : 197 Question Id : 5096478807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

YITsT T 32T BT g

Options:

1. = dia arell
2. % TUelTar grelr
3. v Urell THR aTell

4. = Gelgdl
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Question Number : 198 Question Id : 5096478808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 5096478809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 200 Question 1d : 5096478810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et =hT SATell ST AT ofdT I&T &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. AfGT fRrer
2. gelgdr TRAAT
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